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’ [3':| [h}
’ 1-2
(a) ;v (b) 4
1.1.1.3
( MgO,A|203,ZI'()z )
( 1-1) , ,
1-3 ., Na
Na : 8,
- Cl 1 ,
8,
Na 1 d
1-3 NaCl
1.1.1.4 ( )
, C,H,Cl , 1-4 (a)
., C—C : : H :
Cl , H Cl ,
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1.1.1.5

1-2
kcal/ mol” eV/ mol
LiCl 199 8 63
NaCl 183 7.94
KCl 166 7.20 ’
RbCl 159 6. 90
170 1 37
Si 108 1. 68
Ge 89 3. 87 '
Sn 72 3.11
Li 37 7 1 63
Na 25. 7 1. 11
K 21.5 0.931 '
Rb 19. 6 0. 852
Ne 0 46 0 .020
Ar 1.79 0.078
Kr 2.67 0. 116
Xe 3.92 0.170
H> O( 12 0 52
HF 7 0.30

* 1 kcal =4 .18 kJ
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Mg, Ti
Mo

(Al,

(Ni,




(1)

(2) ;
(3)
§ 1.2
§1.2.1
1.2.1.1
, (NaCl)
: (
H ) ]
1-4
1-4
[ MPa [ MPa
Cu 191 000 66 700 346 128 55% 10%
a - Fe 293 000 125 000 225 158 80% 20%
Mg 50 600 42 900 840 294 220% 20%
1.2.1.2
1-5(a) : ( )



175(b))

(

()

(b}

(c)

(b)

()

1~5(c))

(

176),

X, Y Z

a,B,y 6

nm)

a,bc(

1-6

1.2.1.3

14

vas 1848
14



(1) caz bz c, az Bz yz 9O

(2) caz bz c, a=y =90z

(3) . az bz ¢, a=pB =y =90

(4) . a=bz ¢, a=pB=9C¢, y =12C¢

(5) . a=b=c¢ a=pB=y# 9C

(6) . a=bz ¢, a=B =y =90

(7) ca=b=c¢ a=p=y =90

: 14
14 : 14



1 8

2 10
3 11
4 9

5 12
6 13
7 14

1.2.1. 4

(W H . Miller)
(1)
1)
(a, b, 0

2)
3) OP

( 178)
, (x,y,2),

OP, AB

(X,Y,2)
, XY Z=U V W

233

[233]
(104 hl
If%]
A

\ ’ [100]

[120]

[2100]




[111],[111],[111],[211] ([211],[111],[111],[111]8 , 4
, , 111
(2) ( 1-10):
1) (X,y,Z), !
ab ¢
2) X, VY, Z
3) A’L’i
X'y z
4) 3 k! = 2 L-on k1 nkl
X 'y z
, (hkl),
1-11

[~

(1113

™ (o1

¥ (110) -], (112)

d, .

1
c, o,
(b
1-12
1-12 (a) ahaad abed . XY, Z

— 10 —



1
1,1,00 2,2, 00, 11,0 =,
(110) 1-12 (b) ah
(111)  (111)
1.2.2 o (421)
(hkl)
(1 h1 kI
(421) 1-13
{ hkl}

{100} (100), (010), (001);
{110} (110), (101), (011), (110), (101), (011);

{111} (111), (111), (111), (111)
1-14

&

(111}

2

(1107

!

(110) (1013

(0119

1-14 {110} ,{110} ,{111}

N [
o

ahbeo

il

1:2




(3) 3

1-15 ,
: (110)  (100); 60°
D D , [100] [110]

’ Oa,0&,0a 0Oc4 ,

1-16 , (hkil)4
3 h, k, i
, . i=-(h+Kk
. : /‘._.\
! i i i
. ey
(110) ~ ; : | :
A 1 I 1
. L I ]
: %h&r‘“{mu; | i
L L
AT AT
:':---__;;,.r:.--_ . h=[010] - ol i
SO0 0 /cr
F
12 =a=[100] D.=[110] &
1-15 1-16
6 (1010), (0110), (1100), (1010), (0110)
(1100), , {1010}
, [ uvtw] 4 u, v, t
= - (utv) : a,a,a ,
& a,
' 3 u,V,
W,
_ 1 Y
u= 3 (2U - V)
_ 1
V= 3(2V—U)> (1-1)
=- (u+v)
w=W
[111] (111),[0001] (0001) [ uvw] ( hkl) ,

” hu+ kv +Ilw =0
— 12 —



1.2.1.5

(
) 1-17 {120}
( ) *
L ]
) L
{100} , {320} .
L
’ » .
{100} , {110} {111} . .
L ]
{100}, {110} .
{111} L S0}
.
( )
1-17
§1.2.2
1.2.2.1
40 :
(b cc) (f cc)
(hcp) : ( 1-18, 1-19, 1-20)
(V,Nb, Ta,Cr,Mo,W),a ~ Fe
Al, Y —Fe,Ni,Pb,Pd, Pt ; a ~Ti,Be, Zn,
Mg, Cd
ia) L) {c)
1-18
(a) ; (b) ()
(1) n
8
Y8 4 :
Y4 ({100}) : Y2



(a) ; (b) (o)
(2) R , 1-18 1-20 (a)
( )
8 8
o _ 43 _ 443
" R= 4a a= 3 R
o _ 42 _
: R= 4 a a= 2 JER
. R= L4 a= 2R = =1 633
2 a
¢ a 1 633
(3)
CN——Coordination Number

14 —



,CN

CN

1)

CN =8

1-21

12

CN

CN =12

13 6”

CN =6+6

¢ az 1 633,

11 6"

1-21

2)

2>

0.74

(4)

1-22

32%

68%

0 68

Kk

1-24

125

I‘B(I’B

A

e/ Ia

1-6

15 —
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(h)

@ =WRET

O ik E O Moo (=] B

fa) (b

e/ ra

0 29

0 15

0 225

0 414

0 225

0 414
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1.2.2.2

,  MgO, Ca0o, Zr0: ,Al: Gs

; : SIC, Sis N4 SO
(1) : :
1-28 N aCl , MgO,NiO,FEO MnO NaCl
; , 8, 4 Na
4 ClI
J o ( g ¢ N

Empiy
hole
Al

1-28

(a) NaCl ; (b) MgO ; (c) ZrOz ; (d) AlO3
1 1_29 ) 1
MgO :
mg = 0078 nm, ro = 0.132nm
mg 0078 _
o - 0432 0~
1-29 , 6



2ro; 1-28 (¢) : CaF:

UO:, ThO:, Cel: ZrO: Zrt O
1 1 1
] ( 4 ) 4 ) 4)
, 1~ 28(c) , o ,
471" + 80, , 3
Al Os , , 1-28 (d) o>
AL , , 2 3
, 13 CrrG:0 ~FeOs, TG,
V. O
2 0 0155 O-O
3 0 .155 0 225 E :l
4 0 .225 0 414
6 0 414 0 732
8 0 .732 0 000
1—29
(2)
1-30 (a) , 4 ,
8 , :
) 4! 1 1
SiC , 1-30 (b) 1-30 (c) SiO.
) 4 1
, 1-31 SO
24 8Si'" + 160° 6 ,
40° + 25"



(Cu

U
“ -
, o -
Q S g
+ c
N (e 0]
5 2 g
O ? ©
A m
-
9
A
.
™
ﬂn D,.LL,? _1
Co 5
& * " ™
Ty, .”_. _
Jo! :
E w
.... -
nw.u

1.2.3

63 5)

— 21 —



a= =0 3615nmnm

4.

2
— a A ! —_ —_—
4(63 5 0 602x 10°) 893 Mg n = 893d o’

b= = (03615x 10°)°
1.2.4 ;1 mm’ ? ?
, ? Sr 87 62, 0 215 nm,
0 127 nm, 2 6 Mg m’
(1) 1 mm Ner
-3 3
(2) p = %n(o 215x 10°)°x 1 78x 10" = 0 74
(3) 0 74,
1.2.5 FeO NaCl Fe O ,

e = 0.074 nm, roz = 0 .140 nm

4 F& 4 O,
V = a = [2(0 074 + 0 140) x 10° m]® = 78 4x 10°* m’
m = 4(55 8 + 16 0) (0 602x 10*) = 479x 10 * g

p=mv=479%x 10* (78 4x 10*) =6.1x 10°d m =6 1g cm’

1.2.6 ,[111] [001],[111] [111] ?

hh +kk + hb
JR+ K +E)(B +K + )

cosp =

[111] [001],[111] [111] a,B,



(1)

(2)

(3)

§1.3.1

1.3.1.1

O0000QO0
omooo@o
OOT.OOOO
OO@OO.,,OO
OO0
OO0 - 00

ONONONORONO

(dpete b )

(

32
32

(Schottky)

;4.5

1.3.1.2

(172)

AEv +AS/

— 23 —



A B — ( )

AS — ;
k ——
AS AE AE
o = exp(T )exp(- = 57) = Aexp(- = )
A , 1 10 , A=1
, 1 000 .6 = 5x 10" |/ m’, (22 ) ,o0o=2x 10 /m,
15
1.3.1.3
, , ( )
1.3.1 2.0eV( 0.32x 10**))
800 ,1x 10° , ,1 000 1 ?
n - AS AE
N k KT
T =800+ 273 =1073K
in10¢ = AS 0.32x 10"°J
k  [13.8x 10*J ( . K)]x 1073K
AS
. - 12.4
a3 _ 0.32x 10"J
o= =124 T3 1070 (- K)IT
T=1201K = 928
1.3.2 Al 550 2x 10°,
( Al 0. 287 nm)
Al : a, d,
a-= «Ed
N,
N 42
a o

n = Nc :gx 2x 10°°

b L’

L:3j123j 1 —d =20.3nm
i 2 2x 10

— 24 —



§1.3.2

1956

1934
1.3.2.1
(1)
1-33 (a)
EFGH, ABCD EF
" EF,
1-33 (b)
Wk R T
_r “H-q, \
f’
A
R L] SETEE et
- i LE
i PP e B
ﬂ'#“r II
- i
i 3% m
(a)
1-33
1-33
) ( ABCD)
1

ABCD

ABCD
EF

( ABEF )

PN ea0N
NS08 0SSRNN!




H ! ” 1 1_ 34 ) )

(2) 1-36
T, ABCD :
, b, ,
1-36 (b) bl , :
, bb ad ,
: bb , a :

, ( 1736 (c)).

: , | A
= = e i
¥ - —s7
1 i -2
-~ o a
i F
- |I:| .."J
[l
-
i
{a)

(h) (<)



(3)

1-37
AC ,

.0003“:'0.00'0....00

(a)

(b)

(@) ;. (b)

A ::j o]
H (: 7 B

(a) ib)

1-38
(a) ; (b)
— 27 —



1.3.2.2

1)
2)

3)

(2)

— 28 —

(a)

1939

;. (b)

1~39 (a)

(

1739 (b)),

1-40

b= Fa[uvw]

|b|=—f\1 Ji +V + W

_ a
b = 2[110]

(J .M Burgers)
b



|b|=za P +7 +0 :%a

_a
= £[112]

|b|=Ea \112+12+22 :Ea

6

- | p _ a
b = —2[111], b = [112],

b=Dhbh +b =
o
o %
il J,.-"H
<z
i | e .
" 3
- |~
¥
{a)
1740
(a) (b)
(3) |
( ) b
b |
1-41 b ’
B L
‘ T! | &
I .
(a) (k) (e
1-41
(@) ; (b) . (c)

a
> [110]

VA ALY i
[ I F
.II.r
N i
X
(b)
b ]
b )
i L
[
i
o |/
(d} (e)
(d) . (e)

29 —



1.3.2.3

Tc

1.3.2.4

(1)
— 30 —

90°, b
b :
h.b, .b n ,
b=73 b
_ L
b=
_n
P ="A
A
1 m
10° 10° m’?
, 1-43
p :
Tec p ,

( 1-

fii i

£}

[ ] IE_I Ly E!—.' -

42),

:I.I'I- II-: :l

i 4l
Cfir 4 ) )

1-42

10

10

it

R AR e )

(1-3)

(1=4)

10 m?:



1
e
F ]| r
f o
PO F 1
¥ - |
I i I
dA I
| |
I
I
Fommmmmah s - e ==
;r [— d--'!' =
'
ll_.l" ——
. T

i

(a)

/
/
iy
1-44
(a) (b)
) F’
W. = Fds
W, = Wz,
Fds=1 Ldsb

L4k
L B i # d

{ch

(c)

ds

31



F=1b (1-5)
. F T b ,
, F
F , , F
T , F T ( 1-44 (b))
, F T T , F
: : T b,
( 1-44 (c))
(2) :
1) 1—45
, , b
1—45
(a) ; (b),(c) ;o (d)
1-46 ,
b ,
1-47 A, B b
] ICI D b ] ]
T ,
b b ,
1-47 (b) , , ,
b y ]



(a)

L ,."J_
7 P .l.!_,
s
T . o
(b} (<)
1-46
(b). (c) (d)

MrEm

2)

(a)

- 0000000 =

(a) (b)

0000 ODOOO
000000

O0CO0Qooo

(c)

000000
Q0000 Q0
O0000 00

0000 poog MA@

p—=— Q0000Q0Q = F oﬂﬂg"ngof"

—r

o0 0000 000000
OO0 00O — 000000
co0ocowo 0000 00
000000 000000
(a) (h)
1—-48

(a)

(¢

(d}

A

IE]

(c)

0000000
o000 A0 0
0000000
CO0C OO0
000 00D0OO0
ﬂﬂﬂﬂghﬂ
00000
00 000
000000

()

33




1.2.3.5

(1)
1)
_ _b
€oz _Z'[r
_ _ Gb
Ts =Tez =
r
_ NG o D
Tyzl —Tzly - 2_[ X2 + j
T = :sz—'gz)_L
X +y
Oxx =0y = 0zz =Txy =T
G_ ’
bh———
2)
, 1-50

O-XX - -

— 34 —

y4
(1-6)
(1-7)
1 (1-8)
y = 0J
_ y(3X + ¥)
A+ Yy
— Al()(z—-\i)_
(X +y)
=V (0Ox +0y)
=T, = x(X - ¥)
y (X2+y2)2

=Tx =Ty: =Ty = 0

(179)



- 2'[(1 -V); i-
V_
b— /-.
oY \ 7
() il
() o | > oy | ii:
() y>0 ( ) ,Oxx < O B
)i ¥y<O0 )0 > 0 ( Ml b
. — — — § 1 :
1-51 , . (179) x "r.r:r ¥
(2) 1-50
% = %[O-rrﬁrr +@9£99 +0-zz€zz +0-r98r9 +@£Sz +0-zr€zr] (1_10)
(1- 10) A 1
dW = %Gefezdv (1-11) \H*J‘ 1-- _,...1 *..._ =X
dV = 2trdrL J_ “H‘x } | x;” _+__
L_ _-i l-._ xl"b. _.-" !# _‘-* i_-_
(1-6) (1L-7) (1-11) T ~ —
T i
g = G dr, 4 1
B 4t r J_.-"'- .
2 -_r 4-.- ;"'I " *4 !_h
dw _ Gb dr — .
L~ 4t b T
o, .r-f--l— —— H‘"\.
R, ' _ 1 ""I __ =" e
f f
Y odw " GB dr _ GF, R
Wsj'o(l_)j’romr—4nlnro .
(1-12)
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1.2.3.6
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__ & R _
We = (1-13)
, = b= 25x 10" m;
R=10° m;
03 04
15
b o
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0 .75 1
. W=aGb a
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_ Ghb -
fr —Tezb - 2'[[' (1 15)
, S S
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1-53 (X,y)
h b X
, Tyx  Oxx b b
2 2
fr = Tyxke = —2RB_X(X - ¥) (1-16)

(L -v) (X +y)



0 y ,
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fx, fy
f , b
fy bZ y ) b b )
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|
|
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A I-___|I --:-:
1-52 1-53
1.2.3.7
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Frank ~Read , F~R
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AC, BD , , C,D T
. CD F=1b , ( (b), (c))
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w, 1F !
Fds = 2Tsin@
2
b _ B, _
®d ,S|n2~ 5 ds = rdb,
F = TT (1-18)
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_ 2 _ 1
T=aGb ( a = 2)
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1.2.3.8
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1)

?a<111>,a< 100 >

a a a a
3 <111>,6 <111>,8 <110>,3 <112 >
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— < 110 >
5 0

a a a a
— < 112> — < 111> .,— < 110> ,—/— < 110 >
6 53 13 O 16 O L]
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1-60
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A
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2
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_4. 42
2> %6 "6
A
2[110]
2) 1-61 N aC
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1-61 (b) )
1-61
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1-61 (a)

1
2
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ABCAB
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<110 >
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[110] 50 5° 1 11
[111] 60 O° 13
[111] 38 2 17
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[111] 60 O° 17
[111] 38 2 17
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[210] 78 5° 1 10
[001] 86 6 1 17
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G
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3. fcc

< 110 >, < 111 >

4. (0110)

(1)
(2)
(3)
(4)

(1)

(2)

(

bcc

(123), (012), (421)

{100} ,{ 110}

{100}, {110}, {111}

[2113]

[0001] , [2110],[1010],[1120], [1210]

850

1 mol

ABCD

e == -

——
e

!
b

E

9. 1-73 (b)

fed, de
ef

a)

[102],[211], [346]
{111}

104 600 J

< 100 >,

def



(1)
(2)

10.

(1)
(2)

11.

12.

(1)
(2)
13.
10” m'?

14.

1g

a M wbdh e

© N o

Al

de ABCD ef :

de ? ?

(111) ,

Briniq . Ar 8.
2[101] + £[121] - S[111]
a[100] — ?[101] + —;1[101]
a a 8117
21122] + Spa11] - 211]
a[100] — 53[111] + 5‘5‘[1'1'1]
_ ar;
b = 2[101]

_ a )
b= 21121

a=28x 10" m,

b= 0.25nm,

1 000 ?

a - Fe
¢d a=1633

Yy ~ Fe

A
2 [110]
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11.
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13.
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o FeC

§ 2.1
§21.1
( ) ( )
( ) ( )
2-1
§2.1.2
(O mE;
( ), w
( ) 2-1
, (a) ; (b)
( )
( )  ?Hume~ Rothery
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(1) ( ) 14%
15%, ) ;
(2) ;
(3) ( )
A ,
( )
2.1.2.1
( :
, : ) Hume ~
Rothery
15% )
; 15%
( ) , :
10%
2-1 ( )
y ~ Fe o~ Fe a -~ Fe
( )/ 1072 ( )/ 1072 ( )/ 1072
C 2 .11 0 0218 0.008 (600 )
N 28 0.1 0 .001 (100 )
B 0.018 0 026 0 008 < 0 001
H 0 000 8 0 003 0 0001
P 03 2 55 1.2
Al 0 625 36 35
_ B—Ti (> 882
Ti _ 0 63 7 9 2 5 (600 )
o~ Ti (< 882
B—2zr (> 862
Zr 07 03 03(35 )
o ~Zr (< 862
\Y; 14 100 100
o~ Fel 8 (989 )
Nb 20 01 02
5 —Fe4 5 (1360 )
Mo 3 375 1.4
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y ~ Fe o~ Fe a - Fe
( ) 1072 ( )/ 1072 ( )/ 1072
wW 32 355 4 5 (700 )
Cr 12 8 100 100
0 ~ Mn (>1133 )
Mry = Mn (1053 1133 100 3 3
af —Mn (<109 )
—Co > 450
Co P ( ) 100 76 76
a~ Co (<450 )
Ni 100 10 10
Cu 8 2 13 0.2
S 2 .15 18 5 15
2.1.2.2
, ( )
( ) (
2.1.2.3 ( )
( )
2.1.2. 4
: ©) (a) ,
e -
C=§=Xu+(1-X)V (2-1)
Y Uu— ,
X_
) ) 2-2
272 (a) ( ) ,
Zn Ga



( ), ( ) ( 22 (b))
22 ( )
( ) ( /
102 ( Y 1072 | ( ) 10°? ( )
Cu~Zn 2 72 38 8 36 1 388
Cu -~ Ga 3 6 6 200 18 1 400
Cu- Ge 4 85 12 0 12 1 360
Cu~-5n 4 19 5 92 12 1276
Cu- As 5 60 6 2 9 1 258
L 100 1100 F2
[ R
x\ H"N-&\- 11*- "
r \ \9]4'2\ 902°C wd Jou-od
200 L'-‘ H'-.. 57 l"L\ Cu-Cia \L’_’u-:-",u 900 - 1~I.
I1. '|~
) . /::u-t;u\ \ _ \11
=700 f—2EEE = 700 \
77 T
S0l ’ I ] SHD \\
|
300 ] I / / 3H)
0 141 20 30 440 1.1 1.2 1.3 1.4 1.5
o 10 ||:-I ]'_ ":IIH I:._:_:'
{a) (b)
2-2 Zn,Ga,Ge As Cu ( )
2-2 2~ 2 (b) : :
( ) ) 1
, , ( )
§2.1.3
0.1 nm : (0 .046 nm)
(0 071 nm) (0 077 nm) (0 097 nm) (0 060 nm)
y ~Fe
: 0 414 R(R ), 0 052 nm

S5/ —
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(d)
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(b)
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2-3 (c)

Cu~- Au
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Cus Au

CuAu

1

3

1 1
(001)

2-4
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2

§ 2.1.5
( )
B—B ,
Cr = Ni )
2.1.1
100
e
13

(a)
. Cu O A

2-4
(a) CuAu; (b) CuszAu

; A—B
- A—B
A—B
, We 17% fcc
Fe 55 85;C
, 400 : 98 3%

m = (400x 55 85) 0 983=22 726

ne = (22 726x 0 017) 12 01=32
1

Fe- Cr— Al

100
12 01 )



§ 22

§221
AnBn
me =n(8 - &) (2~ 2)
e e
A, A, A
Mg Pb : Mg Sn ,
; MgS
AB, A:B
(AB:2) 2-5

ic) d)
() NaCl;  (b) CaFz; (o) - ()
N aCl , ,
ZnS ( ) , 4
ZnS ( ) , 4 : 2~
5 (d) ( 1 3) : Cc
CaF: Ca'’ . 8 F
8 , Ca’ F 4 8, 1 2



Cak

§2.22 ( )
B B, A, A
32 , , B 21 13 ,
: Y 21 12 € 23
2-3
=32 =21 13 =74

G ) B ~Mn ) \% ) € )
CuZn CwsZng CuZns
Cus Ga ( ) Cus Ga ( ) Cuw Ga
Cus Sn Cus:1 Srs Cw Sn
CsS CusS Cus Ge Cus1 Sis CusS
Ags Al ( ) Ags Al ( ) AgAl ( ) Ag Al;
AgZn AgZn AgsZng AgZns
AgCd AgCd Ag Cds AgCds
AuZn AusZng AuZns
FeAl Nis Znxa

32 B
B~ Mn (VI € )
7B ) )
B, v €
§2.2.3
(X) (M) (R/ Ri)
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R/ R <059 |, :
( );: R/ Ri>059

Ri - R

AR(T

x 100%) <30%,

2.2.3.1

: NaCl , 2-6

MX, M2 X, MX2 ,Ms X,

, TIC~2ZrC, TIC-VC, TiC~ NbC

15% : ( )
2-4
24
My X FeeN, Mo N
M2 X TioH,ZroH,F&N,CrN,V2N,Mn,C,W.C, Mo, C
TaC,TiC,ZrC,VC,ZrN,VN,TiN,CrN,ZrH, TiH
MX TaH ,NbH
WC,MoN
M X, TIHz ,Tth ,ZnHz
2.2.3.2

MsC ( FeC) MG ( CrG) M2Gs ( CrzsG) Ms C ( FeW:C)

FeC , 4 - 53

§ 224



,  TiAl, Tis Al, Nis Al

2.2.2 NaCl xo =0 52,

0 429 nm, ? Fe 55 8;0

16
—100 (=52 + 48 )
52 13 , 48 , 4
__ [(48x 55 8) + (52x 16)) 13 s _ 3
P =70 602x 10°%)x (0 429x 10 ° m)° ~ 2>/ Mg m =5.7g cm
§ 2.3
( MgO,Al:0: ) (  SiC,
SisN: )
(1) , ;
(2) : ;
(3)
§2.3.1
2.3.1.1 AB
, NaCl ( 2-5(a)) ( Zns) (
2-5(c)) (  znS) 2-5(d))
2.3.1.2 AB:
(CaF:) : ( 27 5(b))
ThG: ,UQ:, CeO: ,BaF: , PbF: ,Crk

Cak , , , UO:



2.3.1.3 A:Bs
@~ ALOs) A:Bs ,
, 2-7 :
(0001) ABAB , AI*

a —Al:0Os , A:Bs Cr2Gs,
a " Fel ,TikO:,V20s
a~-ALGs -
: 99%

Al: Os )

2.3.1.4 ABO
(CaTiOs) ABO: 2-8

Ca’” : Ti'"
( BaTiOs, PbTiOs )

2.3.1.5 AB:Os

(1) Mg”
(2)

(3) Mg "
AL ,

L46x S+4=8 O

4x 4=16
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e
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®rn Qo O A" @mg O OF
ia) ib) ic)
2-9
(a) . (b)) M (¢) N
8§ 2.3.2
2.3.2.1
SiOs , 2-10 (a)
- 0 160 nm,
, , SO
y 7 y - 1 ’
, SO ,
8
SO
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(a)
2-10
(a) Sio, . (b) (S207)°8"
2.3.2.2
(1) ( )
1) -1,
( )
(M@SiOs) (ZrSiOs)
Md " F€*  Mrf’ :
2-11 :
(0001), ABAB S HCP Mg
( )
A B , 4 ,
, 2-11 : 3
(A B ) 3 ,
2 _
, 3x 3—2 :
Mg SIOu ;
2)
2-12
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4 , 2-12 (e 6
{a) iy (c)
@ (tEAREETEsE
d
O n#zBEaETEIsHR W !
® fLEAFSomENERT
O RERFOWMEMEERT
T 2-12
TIF-' I-"..I.LI TREAE N o] (a) ; (b)
o-11 (c),(d) ,(e) 3,4,6
4, : 35(
Ca:[Si:0/]); : 3( Be Al: [Sis O ])
2-5
2-5
g cm’® 100
Mgz [SiO:] 3 21 1 65 11
Fe [ SiOs] 4 35 185
Zr[SiO] 4 60 197 45
Ca[S207] 165
B%A'z[SieOlg] 271 —_
Mg Als [ Sis AlOns | 2 60 154 1
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g om?® 10° °°
Mgz [Si2 O] 318 1 65
Mg [ Si2 Os | 3 10 11
Mgz [SiOs ] 3 18 16 89
Ca [SizOg | 2 92 1 63 12
Al[AISIOs ] 325 1 66 4 6
AL[Q SO ] 3 14 1 64 10 6
AL[Q SO ] 3 67 172 92
2 AI[A|1.25 8-0.75 O4.875] 3 16 1 65 4 5
. AI[ Al 4 S 6 Os 5] 317 1 66
(2)
, , 213 ,
, [SI0:]° ; 4 (2+4x%:4)’
4+ 4+ 2- 1 1., _
Si . Si 4,0 2><4+4><(2+4)—11,
5 g%
[a)
10
Y
2~-13
(a) (b)
1 2 3 4 5 7
, 214
25



(3)

[Sis O ]4"*

(a) 1

(b) 2 , (o3 , (d) 4 , (e 5 ;o ()7
, 215 ,
, [SitOw]"
a=0 520 nm,b=0 90 nm,
2-6
2-6

Al [ (OH)4/ Si» Os]
Al [ (OH)4/ Si2Os]
Al [ (OH)4/ Si» Os]
Al [ (OH)4 Si20s]-

Mg [(OH)2/ SizsOp]- nH20
KAl [ (OH)./ AlSi3 Oy ]
KMg [(OH )2/ AlSiz O]

2 nH, O 3 (K,H)AIL[(OH)2/ AlSisOw ]
Mgz [ (OH)4/ Si20s]
Mg 33 (Mg Al)s [ (OH)2/ AlS3;0p0] -
nH: O
Al[ (OR)of S On] 4 3Mg(OH)>- Mgs[(OH)2/ Sis O]
3 Al2[(OH)2/ SiaOwo ] -

nH20
Mgs[(OH)zl Si4010]




B B8 R

(a) o (b)

(4) ,
(SIO:) / H 2 /.
g
, - O
jug O &
. o Q.
o SR T»
870 1 470 \ ’ q D
4+ q ﬁ ":b\‘-
216 , Si 2 s
o 111 S e '_/
s
4 S 4 e — sit
: ’ O— o
( ) 2-16
( ) :
, NazO,CaO,AI203 27
27
/ 1072
SO Na O CaO Al20Os B2 Gs MgO
72 14 10 1 2
( ) 73 13 13 1
74 15 5 1
74 16 5 1 2
() 54 16 14 10 4
81 4 2 12
99
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2.31 (SIO2) 2 65 Md m’

(1)1m Si O ?
(2) S O 0038 nm 0114 nm P
(1) S 601g , 1m’ SO ,
1m
Si
o 2 65x 10° d v _ 6
"= 58 1432 0)g (0 6x 107) - 2 945% 10
0
m =2x 2 645x 10°° =5 29x 10
(2) n S 2n O ( )
Vs = (2 645x 10™) %x (0 038x 10°° m)* =0 006 "
o =(5 29% 10°°)x %x (0 114x 10°° m)® =0 328 m’
P 0 33
2.32 M gF: LiF Mg
? , LiF Mgk LiF
2
MgFE LiF, Mg’ Li**,
, LiF MgFR ( ri*'= rug@*, Li’ Mg ), Li'’
1 M gF
2.33 Fe O NiO Wee,0, =10 10°° ,
(2F€" + ) 1 m
0. 140 nm, miz+ =0.069 nm, ree3+ =0.064 nm
100 g , FeOs 10 g,NiO 90 g
_ 10 g _
e = 55.85% 2 + 16x 3)g mol\ 2 0: 12> mol
2+ = 90 q —_
N2+ = (58.71+16)g mol 1. 205 mol
o 10 g 90 g _
™ =55 85x 2+ 16x 3)g mol - ° " (58, 71+ 16)g mol _ +1 203 Mol
NiO NaCl ,CN =6, mi2* = reed+ , NaCl (
NiO) ,
a=2(ro>- + m2* ) =2x (0.140 +0.069) =0.418 nm
4 Ni*" 4 O ( Fe’ ), 1m
4 3

_ 28
(O. 418x 10-9)3 ms =5, 48x 10 / m
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(a)

2-17 SO
(b)

1. 393 mol 0. 125 mol Fe’, 0. 129 2 mol (
2 Fe’ 1 ),
28 0.125 2 _ 27 3
5.48x 10" x 1 393 - 2. 46x 10 / m
§ 2.4
, , 2-8
2-8
/ /| (Pa: s) / / (Pa: s)
H,O 0 0 02 As; Os 309 10’
LiCl 613 0 02 B Os 450 10°
CdBr» 567 0 03 GeO, 1115 10°
Na 98 0 01 SO 1 710 10°
Zn 420 0 03 BeF: 540 >10
Fe 1 535 0 07
10° 10° K's
’ (n)
2-17(a) (b) ®)



§ 2.5.1

2.5.1.1

§ 2.5

500

5 000

55 8(
18
60

16
78
890

570 000
150 000

200 000 500 000

66

12000 160 000
50 000 140 000

20000 25000

(

nm

2~ 10)

1 nm

(CHz = CHz)



=——CH.—CH.—7—CH.—CH.—7—CH.——

CH:—"CH:
, , : 210
2-10
( ) ( )
“CH;—7CH,—
CHz = CHz
—CR—CR—
CFz = CFz

CH: = CH—CH = CH,

>—CH,—CH = CH—CH,—

CH2 =CCH = CH:

T CH;y—”C 7= CH7CH.—

cl
cl
—CH,—CH—
CH,~—CH
( CN
CN
HOCH2CH20H 0O 0O
+ —
( ) — —QCH,CH, O—OVW

HOWGOOH

2.5.1.2

(1)

— 74 —



(2)

25
20
E. 15
i
*n 10
0 | | ] ]
250 S0 750 1 00
oM
2—18 ( )
CHz = CH:, (101 3 MPa 200 ) ,
NCH. =CH: —— CH: - CH: n
( ) ,
AN

—OH , /CEO , COOH , —7CHO , —NH2 , /NG ),

NHOOC(CH: )sCOOH + nNH2 (CHz2)s NH. ———

H NH(CH:)s NHCO(CH:):CO .OH + (2n-

66

nNH: (CH2)s COOH H NH(CH:)sCO

6

1)H-0

"OH + (n-1)H.0

5 —



2.5.1
(1)
(2)

(1)

(2)

2.5.2
—CH:s:
60 kJ mol

H H

c=C

H CHs

1g

1g

1g

§ 2.5.2

— 76 —

M c - cHen) | =2x (12) +3x (1) +(12+3) =42 d mol

Q

n=100 000,

( C—C 0 .154 nm)

H H
cC—C

H HJ,

H H

H H

(12x 2 +1x 4)x 100 000=2 8x 10°

0 154x 10°°x 100000=1 54x 10" ° m
( HoC~CHCH ),

’1g

c=C 680 kJ , CcC—C

H H H H
c7C . CC~

H H H

Q =680000J

Q = -2x (370 000) J

= (680 000 J- 740 000 JY 42= -1430J

370 kJ



2.5.2.1

~>="CH; 7CH,—CH,;CH,CH,CH,—™™=—

" CH;—”CH—CH,—7”CHCH,—7CH—™——

c Cl Cl

~—=—CH, >CH—CH, ~CH—CH, >CH———
CN CN CN
FFFFFFTFTFF
~—=——C—C—CCCCCCC——
FFFFFFTFTFTF
CH.Cl CH,Cl
»—=—CH,~—C—~CH, >0 —CH, >C—CH, 0=

CH:CI CH:ClI

O O O O

C C C C
VAN V2nN — — /N0 N\ N

NN NANTON TN A
c ¢ c 7 ¢

o] o) O o]
CHs CHs
CHs CHs

2.5.2.2

77



: CH.—CH: n R,

R
R , : R
1 R 1
2.5.2.3
( )
)
(b} (&)
2-19
(a) ; (b) . (c)
(1)
c—Cc c—C : 109°,
, 2719 (a)
(2) 2719 (b) :
ABS
(3)
: , 2719 (¢
2.5.2.4

— 78 —



10928 , G -G :
GCs C ,CG—G ,
109° 28 , G
G , G—GCs )

2.5.2.5

(1) : , :

(2) :

50% 80% :

1. 2

2. Cd,In,Sn,Sb Ag ( ) Xcd , Xin, Xsn, Xsb
0 435,0 210, 0 .130, 0 .078; 0.304 2 nm, 0.314 nm, 0 .316 nm,
0 322 8 nm; Ag 0 288 3 nm :



3. Cus Al,NiAl, Fe Znza , Cus Sn, MgZn: ,

?
4. y ~ Fe W Wh 0 021 0 027
5.Ag Al : ,
6. AINi CsCl ( 2-21),
a=0.2881nm,
7. ZnS 4.1 Mdm,
8. C: H: Cl2 2-91
60 000 d mol, ?
: o~ Fe y ~ Fe
2 2
2
4, : ?
S. 2
6. ?
7.
8. ? ? 2
9. ?
10. ? ?
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10’

/s

§3.1.1

3-1(c))

(

§ 3.1

, (

3°1
, (  3-1(a),
( 3-1(b)) ,

( 3-1(c), (d),

3~ 1(e))
-1 Fe----] E/ov
S ) e o
-1 Fe--— O K

{d)

[a)

— 81 —



§3.1.2

3.1.2.1
3-2 , ,
’ - , 3-3
o ;" -
| 1 7
-
o [0 . =
o
° En Mg -
o A1° L
o 1o
"I:- Lo I
a 4o fr rrb
o ﬂu
o 1o
i o U
/=
T T TRy gy m
372 3—3
3—3 , Tm( ) ’
, Tn , Tn
’ 113 ” f) ,
, , f=C-P+1=1-2+1=0,
[13 ” ?



3.1.2.2

T T AT=
§ 3.2
§3.21
?
G= H- TS
, H ( ), T , S (371)
dG = dH - ST -
H= u+ pVv
dH = du+ pdV + Vdp (3-3) -
U——m- ;
p_
V—
du = Tds- pdV (374)
(3—3) (3—4) (3~ 2)
dG=- AT+ Vdp
H ] dp: Ol
dG| _ _
[dT]p"’ S (375)

Tm - Ta, ,

(371)

Tds (3-2)

J

0 T —



(Tm) , G =G,

Tm
Tm y (G-) (GB)’
(G - G),
(AG) AT
AG = (H. - Hs) - T(S - S)
HL' HS:Lm(Lm )
T= Tm ,AGB =01
S-s==2=
Tm
T< T S - S
_ oL _ Lo -
AG = Lm[l Tm]_ TAT (3-6)
A G AT AT=0 \AG
§ 3.2.2
?
X
371
35
( 375(d));

( 375(¢))

— 84 —



371
/ nm / nm
Al 0 296 10 11 0 286 12
Zn 0 294 11 0 265,0 .294 6+6
Cd 0 306 8 0 297,0 .330 6+6
Au 0 286 11 0 288 12
Bi 0 332 7 8 0 309,0 .346 3+3
(c)
3-5
(a) (b) (c)
) 3—6 ) ]
y rmax, y
, 3—7
3.2.1 (Tm = 1 453 ) 0. 18,

8 —



B L 3

3253 5J mol

(AH = - 18075 J mol)
(376)
L - 18 075x 0 .18x (1453 + 273) _
AG="AT (1453 + 273) -
!
|
0 g R e AR o8 b v
3-6 3-7
§ 3.3
O y y ]
§3.3.1
?
3.3.1.1

— 86 —



AG=-AG +AG (3-7)
AG —— :
AG —
AG ,0 : : ,
AG=-VAG +0S (3-8)
AG=-%ﬂr3AGB + &fo (3-9)
(379) , r
2
, r
: r A G AG
r
3-8
1 ||
Ik y '
3.3.1.2
r ,
r< r« > Ik 3-8
, r= I« ,
, Ik , Ik
: I (3-9) :
AG_
r
_ X _
o= XS (3-10)
] G y
NG , o AGs,
(3-6) (3-10)
_ 20Tn 1 _
L AT (3711)



331 Cu tn = 1083 » =1 88x 10° J cm’,
o=144x 1003 cm’ (1) Cu 853 - (2) Cu
63.5, 8.9d cm’,
(1) (3711)

2x 1 44x 10° x 1 356 10
- =9 03x 10 m
1 .88x 10° x 230

Ik

(2) , : n,
Ly 602 10°x 8 9x %ﬂx (9 03x 10°°)°
n=n A = 63 5 = 261
3.3.1.3
) ] y rk
, Ik Io , ,
AG>0 ,
: ( )
) ) ?
y rk rO )
, A (3-10)
(379)
A=AGa =- 2 L 4 avio
3 Ik
_ 1 _
A = 50S (3-12)
, 13
) 2 3, 1 3
11 ” ’ 3_9 , ,
(3-11) (3-9),
B _16mo° Tm 1 B
A=AGw = "7 = (3713)



3-10
AT<AT :

3.3.1.4
(N)

exp(- A KkT) ;
exp(- A KT)
3-11

exp(- Q KT) Q

N = Cexp(- A kT)exp(- @ KT)

AT ,
, : AT>AT
Ik,

3-10 Mmax
& .
) I
i i
L . |
= exp{ —AKET) i
] .::IL :
) kS exp(— O ETY !
- [
| i
B :

-

H s :
[
I
I
T |
’ :

) —_—— AT T
N 3-11 exp(- A kT)
exp(- Q kT)
(3-14)



10 50pm

A— ;

Q_ )

K — ;

T—— , K

3-12 ,
exp( - Al KT) :
, : exp( - Q@ KT)
: 3713 : : ;
1 ’ A Tp
LA | : ]
i v
i
i
i
i —0.27,
i
:
i
i AT
H A i R
4 .
0 AT T
3-12 3-13
ATo= 0.2Tn( (3 14) :
: 3-2
( Perepezko) :
0.2Tnm 0.33Tn

— 90 —



372

T/ K ATK AT Tn T/ K ATTK AT Ta
Hg 234 2 58 0 248 Ag 12337 227 0 184
Ca 303 76 0 250 Au 1 336 230 0 172
Sn 505 7 105 0 208 Cu 1 356 236 0 174
Bi 544 90 0 166 Mn 1 493 308 0 206
Pb 600 7 80 0 133 Ni 1725 319 0 185
Sh 903 135 0 150 Co 1763 330 0 187
Al 931 7 130 0 140 Fe 1 803 295 0 164
Ga 12317 227 0 184 Pt 2 043 370 0 181
3.3.2 1. 013x 10° Pa(1 ), 319 K
1 nm, 1726 K, A H. =18 075 J mol,
Vs = 6.6 cm’/ mol, -
L. 2
AG
LA T AHAT
NG = =
Tm Tm
MG MHAT
T 2Vs  2TeVs

1x 10" x 18 075x 319 _

= 2.53x 10° J cn?

2x 1 726%x 6.6

A=AGVs =

1610° Vs _ 1610° Ta Vs _

3\G  3AHNAT
16x 3.14x (2.53x 10°)° x 1 726" x 6.6 _
3x 18 075 x 319°
1. 60x 107*°J
_ A _Q]
3.3.3 , N = Cexp[ k_I_]ex KT
(1) A Q
(2) C
(1) A— : J ;
o—o , J
i
, Q , Am Q exp[ T
_ 161 _0Tn
A= 2
3 (L-AT)
(2) C , N , 1 (s- cm’)
_ o — KT
C=n =n h
n—- ;

91 —



h——
§3.3.2
’ : 130
’ 20 :
?
3.3.2.1
’ 3714
W S 1 r, W
) Oww ,Osw  Ost Y, S W S

295

(b
3-14
O.w = Osw + Os. CO$

AG =-AGBV+Zo'Ai

s = %rrf(z - 3cod + c0s'0)

A =2t (1 - cod)
A =1ir (1 - coso)

(3-17) (3718) (3719 (3-16),
NG = (-é%IFACi-qufo&)[Z;Jﬂg%%iiﬁiﬂ]

(3 9) (3-20) | [2 - 3005(3r + cose]

; I« A G«

— 92 —

RN NN EEr R
F

(3-15)

(3-16)

(3-17)

(3-18)
(3-19)

(3~ 20)



_ 20

fo= 2o (3-21)
3
AG. = AG w (3-22)
AG« _ 2 - 3codf + cosB _
2O A (3-23)
, 8=0 ,AGk=0, : ’
3-15(a) 6 =mn ,AG« =AG, !
3-15(c) 0 0° 180° )
AGc <A G
, 0
TITTT 777777777 rarrrrrrrerraliory
(a) (b) (<)
315
3.3.2.2
(1) ’
N A
| , 3- 16
-0.27
! 02T,
, 10
, , ’ | AT
, 3-16



(3~

(2)
10) (3-21) , ,
, 0 , 3—-15 0 : ,
; : 0
2 ?  (3-15) 0
) ,OsL ,9
Oww - Osw 0 , co 1,
Osw OLw Osw ,
: : , ( ) o "
: : a=0302nm,c-=
0.519 9 nm; a=02322nm,c=0 512 3 nm
{111} {0001} , ,
(3) : :
, 3-17 ( ), r 0
, ( 3-17(4)) :
( 3-17(c)) , ,
1 ( ) ’ ’ )

{a) Ly (el

— 94 —



(4)

3.3.4
(1)
(2)
(3)
(4)
(1),

(2),

(3),
(4),

3.3.5 : Lo (A H)
Au=Q-W
Au=Q - AV

Q =Au- AV=(k - u)+ P(Vs - VL) =
(b +pVs) - (w+pVe) = Hs - HH =AH
Q Lo,
Ln =AH

§ 3.4

§3.4.1



- , 3-18
( )
( ) (dN dT)e
Tm
Ti Tm ,
A T« ,
0.01 0.05
¥t T
pd
P
L
3-18 -
8§ 3.4.2 -
, 3-20(a)
, 3—21(a) ,

(@)

Ti

(dN dT)u,

3-19

T,
(AN dT)e > (dN dT)u

Bi, Ga, As, Sb, Si, Ge

(b)




: 3-20(b)

, Fe,Al,Cu,Ag

3-21(b)
) )
3-21 - ( )
(a) (b)
K. A. Jackson Jackson
: ( ),
AG
AG/ (NkTm) =ax(l - x) + Xinx+ (1 - x)In(1 - x)
N—- ;
k - ]
T K
X ——— (0O 10), a
a =& Lo/ (KTn)
3 ,
, {111} q 12
H , 0.5 10 &
(3—24) A G/ (NkTm) X , 3-22
- a< 2, x=05 |, ,
, o= 5
o 1 , ,
8 3.4.3

(3-24)

(3-25)



3.4.3.1

10° cm s ,

0. 05

At= 0.01
3.4.3.2

a, 324

U g

o

(1)

3-25(a),

3-23

2.0
2 =10.0
1.5 F
Zolor
---
i} =51
= 05
x =3.0
————
L 2 =20
a=1.5 1.0
—[.5 | | | | | |
0 0.2 .4 (.6 0.8 1.0
T - B A R AT S W 8 S
3—22 a A G/ (NKTR)
X



(a)

3-25

(

(b)

a)

(2)

Si, Ge, Bi

3-26

3-25(h)

3-27

i
e
e 4

i = e
¥ gn [

3-27

3-26 SiC

99

3728



4 CH B )

M ARG

L
e

M e R N )

32 0 B B A O

i

Tl vl AT

3-28 (A T)

§ 3.4.4

3.4.4.1 -

3-29(a) ,

(a) ; (b)

, 3~ 29(h)



3-30(a) 1, ,
(Tn -A To) A Tu
2 ,
3-30(b)
T i
i
i
4 2 i 2
| !
5 e '
(i)
3-30 -
3.4.4.2
T . 3-31(b)
i

() (k)

3731
(a) . (b)

. , 3-31(a)

288 K,

274 K,

— 101 —



3.4.4.3

ax <0

< 1010 >

— 102 —

¥ TH

{111} ,



< 100 >

, < 100 >
, 3-3 (ws =0 07, wy =0 .005, wi =0 .002)
3-3
cm bm MN/ MN %
20 32 100 323 4 295 3 1
1 1 1 1 1
2 54 35 365 6 295 3 11
§ 3.5
( 4 )
3-35
(
) ( 37 36(a) ) ( 3736(b)
, , : 3-37,
) E’ b
- ( 3-37) , & ,

— 103 —



c-C S -
Y - N odrs i CH, H
' b L
' YA e D F;L"( :C‘("H ‘1*5 HJF{i Illt' ':'fr
ISR Sy AR A I e
4 e _C "”‘.,r; r ! & '.Co =L O o
'-..::'--l-_ J . o 1‘.'_.- -"j_ 'h':-_.."" “':_ - ‘ _.-E . ' o 1'5"
w0 b i P e i
. o 1"1 Oy
! L TR
1‘1
(a) ()
3-36
(a) ( );  (b) ( )
t , b ) 1
100 ( 3-4), ) 1.20 /
; t - 73 0
| ~ ETRLE L PR
3-4 110 ,H; &
’ § B B, :'; E
) ! E _.‘.F_-.’.— :
[ #1005 /.:;// ta
= i i {APE
: b
0.9 | | | | |
1
; 3-37
3-4
t/ ( ) tn/ ( )
- 120 140
- 70 *
- 15 175
g6 50 265
85 210
100 240
3.5.1 ( PE) 1.01 d cm’,
(LDPE) 0.92d cm’, (HDPE) 0.9 g cm’ LDPE HDPE

PE

Vee = 1cm’/ 1.01 g
LDPE



Viore = 0_92 cm’/ g
HDPE
Viupre = 1 cm’/ g
0.96
LDPE
_lcm’ lcm s
Vibre —092g-1019—00970m/g
HDPE
_lcm’ lcm’ 3
VHpre —0.969—1.019—0.0520m/g
3.5.2 0.9d cm’
( )
3.5.1 : 1.01 ¢ cm’,
Ap =pee -p =1.01-0.9=0.11¢ cm’
Ap" =pre -pore = 1.01-0.92 =0.09¢ cm’
Ap =pre -pruore = 1.01-0.96 =0.05¢ cm’
_Puwee -p _0.92-0.9 _ ;4
L Ap 0. 11 18%
_Pwoee -p _ 0.96 -0.9 _ .,
N =" Ay T om0
§ 3.6
§ 3.6.1
) : 0. 25 mm;
: 0.02 mm 100 :
) :
’ ) ( 7 ) )
’ ZV, ZV
N \Z , ,
[ N*?/4
Zr =009 V, (3~ 26)
Zs
~ ﬂ‘l/z ~
Zs =1 .1[ Vi (3-27)
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’ Vg Vg
’ N Vg I\y Vg ZV
) 3-5
35
o)
VC 0 .014 NbC 0 086
TiC 0 .060 W, C 0 035
TiB2 0 .048 CrC
AlB> 0 .038 Mns C
ZrC 0 .145 FesC
8 3.6.2
3~ 38(a)
3-38(b) |
8 3.6.3



1

faﬂaﬁagﬂaaaaa

i Bt I i

.ﬂ .._..__..-.ut...-._pj_l -y .u.l..l _.ﬂ-..
g
1...:..... Lo .....,....

A7 = Hf #R

| g
i | 4 iE
o Q
= !......__ et G
- I, o oL D
inl i £
S35 IIIII — " . o
- .:......... . = .3 h .”-
o
e \ s
HEERENENN o)
o
| = mT - .-.I.-.|II.-._“....
i - R R
po ~ RS
= ——— ;
- i 2]/
I
mm = [o0)
i iy n_,o -
e M —
DDD&DDDQﬂ@DD = = G
SSE e n o I
,..._,.............rsrsr.....“.._...._._... ,_.......ﬂ.rsr”......u.. AN ) -
[ I O BN B -
— m_m___________ _ \ =
__-_________-— —_
AR AR m -

GDGDDGDDDDDG

i T
=n = i B

§ 3.6.4
3-40

107

§ R

3-39



: : , 10°K/ s

Tq : : Te :
Te , Te Tq 323 K
: ATy = Te - Tg AT, : : Tq
Tm Tm = 1825 K, Tg =550 K,ATg =
1275 K, ; (x« =020 ,Tm= 1100K,Ts = 700 K,

ATy =400 K,

¢
{ BF

frm = e 1

|
-

0 T/K
3-40 3-41
1— P 2— 3—
, 3741
§ 3.6.5

(U m) (nm) :

Fe— Ni

HV 700, HV 250; Al = Cu
(Wew = 0.17) 5 = 600% ,
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a ks Db e
N
N

1. 013x 10° Pa(1 ) 319
1 nm, 1726 K, A Hn = 18 075 J mol, Vi =

6.6 cm/ mol, -
6. r , AG V

AG = %VAGB

S

1. : AT =02Tn

9. , 1 : 1

2 - 3co® + cosh
4

11. ; ,

12. , ,
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13.

14.

15.
16.

17.

18.

19.

20.

21.

22.
23.
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CaO SO, CaO~ SO

§ 4.1

§4.1.1

§4.1.2

W)
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C—
p__
84.1.3
Wa , WB
m,m —A,B
n, it —A,B
4-1(a) ;
4-1(b)
4.1.1
100
Sn
Sn

— 112 —

—
]

c- p+1

Cu ~ Ni

, Wen  0.60,ws 0.40

= 60
118. 69, Pb
60 118 69 =0 5
40 207 19 = 0 19

Sn + 40

(471)

( )
: 4~ 1(b)
A,B ,
(4-2)
, Cu ~ Ni ,
Pb



05

= = 0
% = 9 5+019 (%%
Pb
B 0 .19 _ pao
% =5 5+0 19 8%
4.1.2 Al - Mg , Mg xvg 0. 05, Mg
Mg 24.31, Al 26. 98
i Xi Wi
_ Mi Xi
W = -
Z M; X;
1
, M ]
_ 24 31x 0 05 _
Wie = 54 31x 0 05 + 26 98x 0 95 0 045
— 26 98x 0 95 _
WA = A 31x 005+ 26 98x 095 _ 0 9
| TO™ .
50Mi AUCL?” :
30N1 30Cu
I:_'|_| ?U‘-_'ll
il s
(3} W, 10
(b}
4-1 Cu- Ni
(a) . (b)
8§ 4.2
Cu ™ Ni ,
§4.2.1
Cu — Ni 4-1(b)
( L ); : ( « ) s



§4.2.2

4.2.2.1

4-2(a) Cu~ Nj (Wew = 0 4)
t , a1 a1 Ni

L. b , L> (o F! b

i) (b (c)

(a) ; (b) (¢

(1)
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(2)

4.2.2.2

X, X

W + W = Wo

Ni :

(

We Xt + WX = Wo X

§4.2.3

4-2(a)) ,
?
4—3
a,b ¢ r
A ;
W, o i
(4-3) E
Cu X
(4-4) 4-3
We _ X% - X _ rb|
Wo X - Xu ab
W o X=X _oa |
Wo X - X ab
We _ 1b
Wi ar
) ,
4—4
a1, L:;

(475)

ta



, ’ as,
(061 a: L, L, ’ L/ f ’
! s , O1,002 03 as,
L., L2, Ls L3 ol ol
) ; Li,L: ,
, |4 ) s, Ls, X
, [£ as

i

I

i

4 i,
= I,

n '
I—'
ad .

L d

A X H
w0
(al (b

4-4

(a) . (b)

’ ' 4-5(a)

Cu~ Ni ,
4=5(b) Cu~ Ni
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() ;. (b)

§4.2.4

b = of a (4~ 6)

\“\

-
11
£
A & A ol B
'I'I-'B.'Ilﬂ-: “"B-'.].':I-:
a) ih)
4-6 ko

(a) b <1; (b) k>1
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CHE
I G

11 'i':'r'x

T

HE

, : ok,
) Ql ) 4_7 a’ ]
5x 10°° cm’/ s, 10° ecm’/ s ,
(Chalmers) ,
4.2.4.1
o, L,
Z( 4-8), fs(fs = 2L) , G
G-lc\S = k)G- de,
(¢ - c)dfs = a¢ (1 - k)dfs (4°7)
) Ac
Ac = (1 - fs)da (4~ 8)
da/ ¢ = (1 - k)dfd (1 - fs) (4-9)
(s =0 ,a =0)
c = ko(l-ZL)%" (4-10)
4-7
I,
- d=
[ #H il 48
5 ﬁ
C i __,'ﬁ I
d ff!!ﬁf!’;’fﬁfﬁ
h o de,
ol s .
0 . [E R 4 ¥ 1
4-7 e(k < 1) 4-8
a— b—
C_
d—




b : : :
- . 479

[(&)i = k)((l)i] ’
, , (@)l (a)s :

: ke ,

k = (&)l (a)s (4-11)
[Tl [ IV o i Yy
8 [ L

[
R pe———— )
e

- —— =

N CE
’M KMH\MM_
“F
’ -

w107

[ — (e
// & E
i (a)
)
[
|:| ——
(b}
4-9
(a) : ; (b)
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¢ = ko(l-2L)<’ (4-12)
4=7 d d b , ,
4.2.4.3
¢/ k , | |
G, a
(a)s . N
’ (
4-10(a)), e, = (e, (c2)
y , "ﬁ ----- \ \ e
' , / 3 e
4-10(b)
ke =1 , G =1x @[1 - {a)
(ZL)]""' = o , ,+
| S
" I EHER
! ’ (b} T —
’ 4-10
! (a)
: , (b)
4.2.4. 4
: 20 50 ,
: 4-11 ,
, bk <0.1 , ’
8§ 4.2.5
Chalmers
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I |1

o

N7

4-11

4.2.5.1

4-12(b)
4-12(c)

)1,2,3,4,

(

L

=)

(d)

4—12

(e)

(d)

(c)

(b) A-B

(a)

121
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Qas = NZ| Vas - M

2
N— (Na + Ns);
zZ — ( )i
V ——
Q : A,B :
(1) Qas =0 , Vas = (Vaa + Ve ) 2 A~-B A-A BB
,A,B : ,
(2)  Qase >0 , Vas > (Vaa + Ve ) 2, A~-B A-A BB
; A-B , :
(3) Qas <0 , Vas < (Vaan + V) 2, A~-B A-A BB
A S :
AS =- R(xalnxa + xelnxs)) (4-19)
R——
Xa Xe : , A S
4- 68 x =05 ASs , X=0 x=1 |,
(4—-17), (4-18), (419 (4~ 16)
G = Xapa + XMds +Qxa X + RT(XInxa + xInx) = f( X, X) (4~ 20)
; G
: 4-69 G A,B 0K A Ho A
;- TAS T
: Q Q< 0 U,
4-69 Q>0
§4.7.2
- 4-70 : C ?
A,B : G; C Ar B
, G , A B : C
, C ; G ;
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——1
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4-71

4-70

4-71

4-72
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84.7.3
4-73
G_, ;T5
Tz Ta ,
4-74
L +a:
L +a:
(041 a2
(a: a2)
4-75
A
a2
(

a,bc a ¢
, a c a B
7 T i T
(3,
0T,
(a) b L [y B
T &> g T, S T,
G > Ga
: T, (7,
L +a H : .
A o e
(e B ..."I. (d) §] |
G L et 1
T T
’ ","
( 4-73(f)) P T
(7, : : T-
F. : :
., A B —— B
L:T. , A (e) (f)
) A O 4-73
; Ts , B , a:
b T4 )
) T5 ) 1
: ( 4-74(f))
T: ,
, o1 L +a: Te ( 4_75(b)),
o1 L T ( 4=75(c)),
o: +02: 02 +L Ts ( 4_75(d)),
a: a2) )
4-75(¢))
§ 4.8 ()
] ) ]
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G

ey |

G,

e

3]

wy,

(eh

(M

(ch

4-74

(d)

|frll

3]

Wy

A

Wy,

[ch

()

[a}

(d)
4-75
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§4.8.1 ()

§ 4.8.2 ()



§ 4.8.3 ( )

4.8.3.1
’ k) < 1 ’
4,8.3.2
k <1 ,
, , 4-77(a)
, , 4-77(b)
’ |
lﬂ\._e’
” d;i;
ia) (b)
4-77
(a) ; (b)
4,.8.3.3
, , : Cu~ Pb
955
955 LWszo_as - prb:o sz + Cu, Cu ,
prbzom Pb , , Cu )
, 4-78 (
a ( ) Whb
, Pb~ Sb
Cu, Cus Sb B (Sb)
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4.8 1 Cu—-0.30Zn Cu—0.10Sn
(1)
(2) ?
(3) ?
Cu—2Zn Cu~- Sn ,
(1) Cu~—0.30Zn 30 Cu
0.1Sn 175 |
(2) : ,
K) y 1
(3) ,
8§ 4.9
8§4.9.1
4.9.1.1
(1) ABC 4=79
C (A—B B-C C—A
O O,
a, b, c, @ A,B,C
1)
4—80
B , AB Aa
2)
4-80 ,
A,C cO AD D A, C
An G, . AnCh 'BD
B An G

)
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AnCi

Si—AlI-0O

SO - ALG

&

X

e
i —————

L1

3y

[

4-80

4-79

B)

(2)

AC

BC

AB

4-81

(B,C

0.02,C we 0 03,A wa 095

Ws

482

JE— ]

— -

RO

il

410

20

A

w10

10

"

4- 82

4-81
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4.9.1.2

a B ( )
( )R, a B , 4—-83
) Rlaiﬁ A
fC,eC ¢C Ra B We , W, Wb
A Wk fC, W: €C, W gC
] A ]
Wk fC = (W + W) fC = W eC + W gC (4-21)
W (eC - fC) = W (fC - gC)  (4-22)
4 - 83,
eC - fC=ef, fC- ¢gC= fg
% ) ? (4-23) - w0
W fd _
Woooef (4~ 24) 4-83
, R f BC f AC
4—80 , R
a BB , R a B ,
fg _fg_ R _ W _
ef ~ ef aR W (4725)
4.9.1.3
: R aB vy ( )
W, W, W, R oBy ( 4—84),
R Wk
CRd= W _ W _ Rd o |
Wr- Rd = W.- ad, V\A—WR—adxlooA)
. - W _ W _ Re o b
Wrk- Re= W - (3 g W_WR_Bex 100%
. = . :w—:&f 0
Wr- Rf = W-yf, w Wa yfx 100/0’
(4-26)
\AA1W1W
R af vy 4- 84

— 169 —



4.9.1. 4

1 ,
4.9.1 ( 4 — 85)
(1) P,R, S P,R, S 2 kg, 4kg, 7kg,
(2) we = 0.80, wa/ W S wa/ ws
(3) 4 kg P , 10 kg R ,
(1)
P wWa = 0.20, v = 0.10, we = 0.70
R cwa =0.10, ws = 0.60, we = 0.30
S cwWa = 0.40, ws = 0.50, we = 0.1
Qs
Q=2+4+7 = 13 kg
W = 2% 0.20+ 4x 0.10 + 7x 0.40: 0.277
13
W = 2% 0.10+4x 0.60 + 7x 0.50: 0. 469
13
w =1- wa - ws = 0.254
(2) we = 0. 80,
Wa+g = 0.20
S :
w, 11

wa/ we =45 =20.8

= 0.09
= 0.11

=

=

wa = 0.0, w =0.11,w = 0.80
(3) Wa, W, Wc,

4x 0.20+ 6x wa = 10x 0.10
4x 0.10+ 6x w = 10x 0.60
4x 0.70+ 6x w = 10x 0.30

ws = 0.934
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we = 0. 033

§4.9.2

4.9.2.1

, 4-86

7 a 1 L
a
1 (
) ,
4-87

, O T , Ts

, : OhL I« ,
sss O , L a @)
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sO,sOlL,s01L Ol,

4~ 88(b)

4-88
4.9.2.3
T =
4-89(a)),
Ss l." 12’ s's'
1
4-89(b)
mn ,
4.9.2.4
4—90
To Ts
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b}

(a)

il

B

()

(al

4790

§4.9.3

4.9.3.1

(1)

(B+C) ,Leg (CH+

E
2

(A+B) ,L

Le

A)

EEEBEEBE

(A+B+0C)

, Le

Te
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4—-91 4-92

A~-B C-A EE EsE A
Ta B EE:L Ta, , TsBEEEE: Ts Tc B EE Tc B C
: 6 ( YALAE EA.,B BE EB:,
AABEA ,GCGEBECG,BBEEB. ,GCEEG
: : : 4—92
AAEEA ,BBEEEB A-B A A BB A
L+B+A , L (B+
A) B-A A E B,
AEB: BEE AA,BB 3
: 4
L+ A+ C,
L+B +C
,L+A,L+B,L+C 4~ 93 L+A
(2) ( 4-91)
, 4-94
, : 4-94(b)
3 , 3

' 4-93 L+ A
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4.9 2 4-94 O

(a) T8 > T > Tc; (b) Te2 > T > Te

O B; L -
(B+ A) ; Te L-(A+B+C)
, O B +(B+A) + (A+B+C)
(3) 4-95(a) A At AC rs
4-95(c) 4-95(b) : O At
rs : O 1 A, 2,
: L- (A+C) 3(  Te) :
L- (A+B+C)
; L ,
A
1
A+l
2 C+L
FL A+C+T H\/
3 A CHBAL
Aa+H+C 3
| i f
{a) (b (ch
4-95
(a) ;o (b) s ;o (c) At
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EEEEEBE

4.9 3

Ts (

L -~ (A+C)
(A+C)
Ts Te ’
(A +C)

(A +0O) 9
Te ,
B+ C) (A +C)
4-96 f f

(A +B +

C) :
O

A +(A+C) +(A+B+Q)

Wa -
q
Wa+c) = gﬁf %x 100%
_gf AO 0
Wiasss0) np Aqx 100%
4~ 96
4,.9.3.2
(1)
4-97 4791
afy
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3 (TA dad Ta, Te bbb’TB,TcCCC'Tc) 6
(dam dod ,daadod,BbobBob, By Bold, o, Ccy o)

aBys3 ( 4798 B )
(daamdoa BbWold,bbybed Cccadol,Ccwco¢ daamdod)
(aav b ba, b» 0 d, @ @ ac) (ad b'ba, J ¢'cb, ¢ &' ac) a +
BB +y B +y 3 ( 4799(a) B +y ) 4-96
4-91 ;3 (TAEBE EEs Ta, Te EEE: Ts,
TcBEE Tc),6 (daEE:d ,WbEE. D ,bbEE: B, ECEE: ¢, ¢CEE: ¢, daEE: d),
abc (BEE,EE BE),E .3 3
L +a,L+B,L+y 3 ( 4-99(b)
L +p ) 6 3 3
s L+a +( 4-100(a)) ,L +B +y ,L +y +a 3 o +p3 +y

( 4~100(b))

A

£}

(a) ()

(a)B +y ; (b)) L +B

fa) (b}

4-100
(a) L +a +f ;o (b)a +B +y
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(2) 4-101 ,

1) , 3 , 3

3)
; 3 L L
( 4-101(a), (b))

4-101
(a) TEl > E> Tg; (b) T= Tg; (C) T < Tg; (d)

(3) 4-102 4-97 , AE EEsA,BE EE.B,CE EE.C
apy 3 Adad A,BBI'B,Cécc'C
6
L +a +B dE Ead OE E0W
L+B +y BE EOY ¢E Ect
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L+y +a d Es Ead C Es Ecc

a +p daa dod bbb 5o §
B+y B bbobbo B ccwCol
y +da daa do d CCkCocC

abc

3
, E 3
4.9.3
4—-103 A

4 - 102

4-103
4.9 4 4-102 O
4- 104 4- 105 0 0
A EE3 ' Tl a , ,
11 7] ’ G G



Tz, a da
; EE r : a :
, L (@+B) @ +y)
rE,ga sC : ars
aE @] Te E
cC u u )
, Lo @+B+y) Te

: a +@+y) +@+p+y)

w = O—rrx 100%
e m] 0
Wa+y) —[ E qr x 100%
Wi +8 +y) = ld—é)x 100%

TIK

4—104 O 4~ 105 O
(@ , : aa , [y, o ,
a -pB +y , B-a +y , y -a +p

, O a +@+y) +@+p+y) +B +y |
a +B +y a,b,o

§4.9.4
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4-95(b))

1]

L}

(

4-101)
(  4-9)
(  4-106);
, 4~ 107 (

4 - 107
(a) L+B a;

(b) L a+p

(

4-92)
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4.9.4.4

4—-108
4—109
, 47109

a) () )

4 - 109
(a) L a+B+y; (b) L+a B +y; (¢ ,L+a +B vy

§ 4.9.5

4.9.5.1 Fe~-Cr-C
(1) 4-110 Fe~-Cr—C Fe
5 ay,G(MsC),C(M7Cs),Cs(M2Cs)
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1) L G +vy,;

2) L +a vy;
3) L v +C;
4) L a+C;
5) L o+ G,
6) L+C G
7) L C+GC

A (1300 ) L+G GC +a
B (1260 ) L+a y +GC
C (1130 ) L y+G+GC

Cr.,

g 10 A 30 4k a0 Gtk T B0 90 100
':L'“."H_I ] Lr

4-110 Fe—Cr—-C Fe

(2) Fe-Cr—-C (we =0 .13) ( 4—-111) 3
,8 , 8 , 3 , :
a+y +C : y + C : a + Ce : Y
a : y ( ) o ( ) :
y -ad : C
y a+GC 7 L+a y,L y+Gy a+Gy +GCG G,

Y+C2 Ga G+GCGa G+C

795 ay,& G
a+y +G : a+C +GC : Y, , G
G y +C + G, a +y + G, G a
, 195 y +G C +a
4 , 4—-111

— 183 —



4.9 5

1100

(3) Fe~Cr—C
4-112),

4.9.6

Crl2
; C

4.9 7

4—111

Fa

0.5 1.0 2,

4-111 Fe~Cr-C w =013
Crl3 ( Wer 0.13,w 0 000 5)
a L +a : a
a -y, 1100 y -a,
a G a + G
Fe 1150 850
y +C + C
vy +G - G 4—-112
Crl2 (wee 013, w 0 20) 1 150
C 1150 y +G ;
1 150 \% )
a
W, = abx 100%
wee 018 w001 1150
P 1150 y +C + G
3
= 5 0
W dsx 100%

Crl3

y ta



W, = 2—]‘:(1- w)x 100%

We, = e;sf(l- w ) x 100%

L+v+C,

il ”:. |
] | | | | | JLES

Fe 10 20 30 40 50 60 70 80 90 Cr 70 80 90Cr
T N
La)
4-112 Fe~-Cr—C Fe
(a) 1 150 . (b) 850
4.9.5.2 Al-Cu~ Mg
Al = Cu- Mg (LY ) 4-113 Al-
Cu- Mg Al 7 o ,CuAL @),
Mg ALB), Mgz Al (y ), Al-2CuMg(S), (Al,Cu)soMgs (T) AlCusMg (Q) E Al-Cu
L —aa +0 : E Er E, B Al~Mg

L—»aAI"'B L—»B‘l‘y y EEU E3F

PPEr: L saa +S,PB:L 50a + T,PEr:L >
S+6,PP:L+S-> T

Er,Euv, P, P : :
Er: (508 ) L aa +0 + S
B (450 ) L aa +B + T
P : (475 ) L+Q S+ T
P : (467 ) L+S aa + T
Al—=Cu— Mg Al ( 4-114),
Al Oo ,01 ,02 03,04 Cu Mg aal
, Olo0l1 ,0102 ,0203 , 01300 4-114,
O Al : : : Al~Cu~ Mg
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I"HK'

Al 11 ] 2 25 A0 35 A
'”".:.-".Il:-:I :
4-113 Al-Cu- Mg Al
e b ",H/

w, 107

0T ‘}

TM:]E -1uu'|;& 4?4{1:

| 00RO T,

kN 1 ETIT (B

00T |
y\.lrm:_‘"i£ : 0 |, +MgJAl,

Al 2 4 & & TN E 14 16 1% 20
W,/ 10°

4114 Al~Cu~ Mg Al ( )

4.9.5.3 CaO~Si0: ~ Al Os

4-115 4-116 CaO -~ SiO: ~ Al. O
Waio, , Weso , Weio, 0.15,0. 23,0. 62
, 1170
12 A . CS( ), CS( ), G A7,
AS ( ), CAS ( ),CA, G AS( ):5 G S ( ),
GS( ),CsA,CAs , G A( C,A,S Ca0, Al O, SO,
. CAS 2Ca0- Al O:- SiO:) 3 , 15
15 ,
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15 ,

4-115 SiO: - CaO~ Al20s

510,

CS+0,8 +0,A%
C.8.4+0,8+0, A%
C.S+C,$+C,A

A+AS FCAS,

A+CA +CAS,

T - | l\i - TH .

CA [ CLA CA ('..ﬂ._.\;h

TR LA T . I.l + I.l -\.+ % ..I 5 . 5

C5+CA+C.AS CAHCAAGAS bt 1CAACAS
C,S+C A A+CA

Ca0 | | 3 40,0,

C.5+C,A+CTLA

47116 SiO2~CaO~ Al20s
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1.  Al-Mg Xws  0.15, Whig

2. 4—117 ,
(1) : :
(2) : ?
(3) 5% ,
(4) : :
3. 4-118 Ti—W ,
2.400f
! [ Il 3 000
) // ]
I i
& [
P 1| -:
] P 2200
i
i | B0
i
A5 20 50 20 an B
| 400k
w1077
loop—1L— 1 ¢f ) 1 1 1 I
i 10 20 30 40 50 60 70 R0 90 W
w107
4-117 4-118 Ti-W
4. Weu 0.0565 Al-Cu ( 4-119) , ,
Cu ( , :
, )
5. 4—45 Cu—Zn , ,
W 0.4 ,
6. Au—V 1064 1 920
B(AuVs), a, w =0 19,
y ) Wwaue = 0 25 ,

1400
(LB(w =04) +L(w =025 ~———a(w =0 27)

(2)y(w =052) + L(w = 0345)$B(vw =045)
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8.
9.

10.
(1)
(2)
(3)
11.
(1)
(2)
(3)
12.
(1)

(2)
(3)
13.
B
R
14.

15.

16.
0 20)

700

660.37
a00

=500,
H
400{ et
300 | | l I | |
Al 10 A1) 30 40 S0 34
w1077
4-119 Al-Cu
We 0.04
, 12% 88%
?
800 ,
w = 0 002
Fe-FeC ,
w = 0 004
w = 0 019
(
4-120 Pb—-Sn—Zn

X(wo = 075, W = 015, wen = 0 .10)
0 50, Wss = 0 30, Wz = 0 20)

2kgX,4kgyY 6kgZ W, W
3 kg X, 6 kg
R apfy : R A
B-,B,B,B, C G,GC,G,6
4-96 v )
4-102 C :
4-113 X(Wes = 0 15, wug = 0 05)

) Y(pr =

Z(W»w = 0 .10, ws» = 0 .10, wzn = 0 .80)

Y ?
A,A,A A,
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Jn

Sn g 20 30 40 50 ﬁﬂ 70 80 90  Pb

w., J100 <

4=120 Pb~-Sn-Zn

17 .we = 0 .18, we =0 01 , 1 150 (  4-112) p
, 1 150 ?
18. 4-111 2Cr13 (W = 0.13,w = 0.0002),4Cr13 (Wer =
0.13,w = 0.0004) Cri2 (Wee = 0 13, we =0 02) :
19. 4-121 (Wso, = 0 57, Wewo = 0 38, War,o, = O 05)
S,

Ca0-5i0),

{;I_u fir] 1 lllllr |:-!l['|
Cal) AlLO,-2510,

4121 SO ~CaO~ Al20s
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7. GR<mu 1 1

Ni~—Cu : ’

10. : o +B, B
11. : :

12. ’

13. 727

14. Fe— FeC ,

47122

16. , ; ,
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17. : ; ,

18. we = 0 .043 : Fe C, FeC
FeC ,FeC ,FeC ,FeC
19. 4-55 we =0 007 7C : :
We : We
20.
21. ;
?
22. : :
?
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(1)
(2)

§ 5.1

§51.1

1855 (A Fick)

( )
5.1.1.1

(571)

d¢ dx
5.1.1.2

930

(Sl

g m

c(e < e)

(571

m’/ s),
mol m’),
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dx
=R _ _
i
; c 1= . 4
-h-E -‘-‘-:::‘:\;!’f [
"""""""" goTT T
kh:ﬁf:ﬂr- a8
il il 'L.].L_-;._
5-1 (t < &) 5-2
51 : (x ) d x
, X A, 5-2 N N
, JA A
) R )
R=JA- A= 2 A- J1A+—(J—)'(A‘)'dx =-—(J—)'(A‘)dx
, , R
C
R= —AD) - —Ladx
R
_¢c_ _J _
t X (572)
(5—2) (572)
_Cc_ __ _C _
t X[D x] (573)
(5—3) D C ,
, D c : (573)
2
_C _ C _
;=D (57 4)
§51.2 (Kirkendall)
( )7 1
: 5~ 3(3)
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: 5~ 3(b)
( ),
1047 ,
o 1 N m i Hcw
B —— i -'"I._"._'% -‘1--—1"- i
—_— % i
{a) (b}
5-3
() . (b)
(1) ;
(2) ;
(3)
5-3(a) :
A B ,
, B : A
Vv , )
J =oav- Di—CX‘, i=1,2 (5- 5)
, a+ae =c
10°° ,c= 1), J =- 2%, (5-5)
v=(Dl-Dz)%=(Dz-D1)J:f (5~ 6)
@ =d ¢ i - @ (5-6) (5-5)
X X
o G _ G . _
¥ =-(@D+@D)—>=D—, =12 (5-7)
, D , Di i (5-7) ,
’ D1 (
) D#z D,
(1) :
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) 0 9 ,
(5°7),
D=¢D +¢ D=D
(2) (pl - 11(p2 - O( )1 (5_7)1
D=0D
8§5.1.3
( ) : ( )
511
A 198 A 197 ’
A u198 A u197 1 A u198 A u197 A u198
Au?’ (x = 0) Au®:
c Au” , : t>0 |,
x=0,J:O,—)((:=O;x=oo,c=O : t=0 ,x=0,c=0 ,x=0,c=0
H H (5—4) ]
__M [ ] L] _
C= mexp 4Dt (5 8)
M Au198 ( Au198
)
M{ . cd X
T , I( X) C,
M X
I(x) = K exp[ - ] (579)
IF[DT 4Dt
K Inl(x) X 1 4Dt ,
D ; ,
5.1 2
G
X
, (5 4) , Z= ,
2 Dt
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_Cc__¢c z__2z_cC
t z t 2t z
2c__[_C_Z]_ ‘c’z 1 ‘¢
2 - - 2 2 - 2
X xt z X Z X 4Dt Z
(56—4), t, (5~ 4) ,
dc dc
—— +2z,- =0
d7Z dz
u= dé dz ,
®+22u=0
dz
u= Aexp(- 7) u= dé dz (5-4)
b2 J4t
cz,f e dz+ A = Ax erf(@) + A (5-10)
0
B
erf(B) = jﬁ e”dz | erf(o) = 1
Clx=0 = G; o, Cli=o = ©
2(c - 6
A = Jr_[ , A =0
c(x,) =0 +(c-0)l1 erf{ X ” (5-11)
’ 2 /Dt
B=—2 erf(B) 5-1
2 /Dt
5—-1 erf() (0sB< 27)
B 0 1 2 3 4 5 6 7 8 9
0.0 [0.0000 0.0113 0.0226 0.0338 0.0451 0.0564 0.067 6 0.0789 0.090 1 0.101 3
0.1 |0.1125 0.1236 0.1348 0.1439 0.1569 0.1680 0.1790 0.1900 0.200 9 0.211 8
0.2 [0.2227 0.2335 0.244 3 0.2550 0.2657 0.276 3 0.286 9 0.2974 0.307 9 0.318 3
0.3 |0.3286 0.3389 0.3491 0.3593 0.3684 0.3794 0.3893 0.3992 0.409 0 0.418 7
0.4 |0.4284 0.4380 0.4475 0.4569 0.4662 0.4755 0.484 7 0.4937 0.5027 0.511 7
0.5 |0.5204 0.5292 0.5379 0.5465 0.5549 0.5633 0.5716 0.5798 0.587 9 0.597 9
0.6 |0.6039 0.6117 0.6194 0.6270 0.6346 0.6420 0.6494 0.6566 0.6638 0.670 8
0.7 |0.6778 0.6847 0.6914 0.6981 0.7047 0.7112 0.7175 0.7238 0.7300 0.736 1
0.8 |0.7421 0.7480 0.7358 0.7595 0.7651 0.7707 0.7761 0.7864 0.786 7 0.791 8
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T
=] T,
£
L 1 [E)/min
[a)
8- 21
(a) T1— Ms
(b) 1—
8852

(Displacive Transformaiton) ,
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A

, Ms
, Mk
8—21(a)
Ms
TTT C
|
N
I 2
{0 § [H/min
ihi
, T2— Ms
2

( Reconstructive T ransformation)

Ms



, 8-22(d)
8-23 BaTiOs
- 80
)
120 120
1 460
111 110
001
Ba” O
Ti*" Ti | ’
, B&TiOa
’ 8- 22(a) :
BaTiO: 1460
BaTiOs 1460
867 1470
] B - «— - _’y B - _)B B

8~22(b), (c)

fr 3% 8 % {a) fir # B 402

8-22(b), (c)
, Zr0O:



11000 T : :
B i i .l"".'.""f
RO g | I
:EEI". g : : C [ ?
* ! I i v o l:
; 6 000 S A
; 4000
2 004
{l ] | ]
—a200 —1ad —120 —B0  —4 {l 41l A 12400 1640 204
o
8- 23 BaTiOs
1. , n ;
n
2. o B AG
X0 (1- %) 2
= - + - - -
AG RT[)@InXB (1 x))ln(l_ xe)] 20(% - %)
X)—(X ]
Xe ——— a
(1) T=600K ,% =01,% =002,Q =0, O o +p
(2) 50nm 3 : o/
( );
(3) Owp =200x 10°Jm*, 1m ?
(Vo = 10°° m’/ mol) ?
(4) (3), ?
3. , )
200A 7 T.(J cm’), T = 1000 K, E =4Jcm,
40 erd cn’, y = 400 erd cnt ,
(1))AT =50 : AG |IAG ;
(2) AG =AG , AT
4. ,
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c= ecexp(- H KT) , E

, 0
(1) ,06 = w =00001,E=-0b5¢eV;
(2) 6 = Wee = 00001, E=-012eV
5. : N G
Johnson = Mehl ,
@ =1 - exp(- %NGt“)
N=1000 (cm- s),G=3x 10" cn s,
(1) :
(2) ;
(3) 50 %
6. )
1J m?,
1. ? ;
2.
3.
4. -
5. ( ( )
6. ?
1. Al—-Cu
2 ?
?
9. 2
10.

1%

10° 3 m”°,
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§91

§911
, 20 50 , ( )
20 60 SiC
, agc
(1)
(2) RMC(Resin Matrix Composite)
MMC(Meta Matrix Composite) CMC(Ceramic Matrix Com-

posite)

(3)



§912

9-1
um g cnt ~ MPa ~ GPa
E 9 15 2.6 3 232 72
T =300 7 1.76 3 500 230
T — 1000 5 1.82 7 060 294
M60J 5 1.9 3 820 588
3M Nextel 480 Al2Os 10 12 3.05 2 275 224
( Nicalon SIC 10 15 2.55 2450 2940 167 176
AVCO SCS—6SC 140 3 >4 000 400
SNPE B,sC 140 2.5 3 700 400
Kevlar49 12 1.44 1760 62
() APMOC 1.43 5 000 150
W 13 19. 4 4 020 407
13 7.74 4 120 193
B—SC 0.1 1 3.85 70 000 > 6 000
a~-ALO; 20 3.95 379
§913
(Mean Properties) , (Rule of
Mixture) ,
N
pe =Zl(|0i)<Pi (9°1)
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Pe — ,
Pi —— I
¢ — ; 1(Pi =1
@ ——N i
n—-— : -1< n< 1
( ) ( )
\ B
o o /\ /\
) = ] =] =]
: (
) (PbNb OGs) 1 Il 1l
: 2 000 x 10"
m/ N (PZT) ( 9-1 AB
2 000x 10 **m’/ N) :
200 000x 10" “m’/ N, PZT 1 000
(Hybrid Composite)
( ) ( ),
) (
( ), ( )
( ) L 1)
ARALL , 2403 - T:
, (Product Properties) ,
X Y, Y X( /
), Y , Z,
/ ) , Y X ZY=2 X(
) :
(CoFe Ou) (BaTiGs:) :
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100

Y X(

1)

(Z X)

(1)
(2)

(3)

(4)

()
(6)
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, 1 50pum

, 001 1um ( )
, 500
5000 nm A,
A 1 1
5 500 nm , :
, 50%,
(Weibull)
Weibull
FO) = 1 - exp(-alo®) (9-2)
F(o) —L o :
oqA—- )
B— a B
_ L 1 _
o = (aL) BI‘(1+B) (9-3)
0—_ ]
r —
, L
L
) d )
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( 2 mm),

1 mm)
Ecu = 110 GPa;

: = 205 GPa,

911 (
2
as = 1.1x 10°/  ,0cu = 17x 10

(AV L)st = (A’ I)Cu, FCu = - Fst Atz

dy: — v 4)(0 001 m)® = 0 8x 10° n¥

Acy =n(—g)2 = (U 4)(0002m)? - 08x 10°m =2 4x 10° n?

AV L)s = (AT Lo
[0At+ (F AY E]« = [0At+ (F AY Ele

_ Fo/ (0 8x 10°° nt) 6 - Fd (2 4% 10° m?)
11x 100°)x 1+ = (17%x 100°)x 1 +
( ) 205x 10 N m’ x ( ) 110x 10° N m

Fa= 061N ( )
Fu= - 061N ( )
At=1 ,
. 061N (2 4x 10°° n?) y
AV Lo = (17% 100 x 1 ) + = 15x 10°Y
( Joo = ) 110% 10° N m
o = 15x 10°
912 280 M Pa,
140 MPa
(1) : ?
2

(2) :
(3)

Ac = 08x 10° nf, Aw-24%x 10° m’
E« = 205 GPa, E. = 110 GPa

(d E)st =€&st = Ecu = (d E)Cu
O« = 0cy (205 000 MPa) (110 000 MPa) = 1 86c.

1 86, 140 MPa 140 M Pa, :

(1)

(2)
F = FCu + Fst =

(140x 10° N m°) x (2 4x 10° m’) +
(260%x 10° N m’) (0 8x 10°° m’) = 540 N

(3) E = (@E)« + (@E)cu =
— 309 —



0 25x (205000 MPa) + 0 .75x (110000 MPa) = 130 000 M Pa

8§92
§921
9211
9212
9213
: (Synergetic Effect) (Positive Hybrid Effect)
9214 (Intelligent Materials)
§922
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9221

, AlLGs, TiC,SIC :
6 : D», :
Ty = Gl D (9-4)
Gn — ;
b—ou
G/ 30, G+/ 100,
(9-4) D»
0.3um 0.01lpm
&, @, : :
1
b = | 247 (1- ) (9-5)
(97 4) Ty
L
Ty:anH%do/(Pp]z(l'(Pp)} (976)
, : ) O] )
: @ =001 015, =01 O0O01lpm
SPA Al + Al20s, ,
10 nm, ,
ODS TDNi, TDNICr , Ni  NiCr
, & =20 35nm 20 70 Y205,
Al:Os Cu : Cu— Al :
Al: Os Al: O 0.002% 0 011% :

Cu 85% 92%
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9222

1  50pm 1 25pm, 005 05

1%

Pc = Pr@pr + PmPm

pC ;pp 1pm ’
@p ,Pm
921 0.02 ThOs, ThO.
100 nm, ThO:  Ni 969gcm’ 89dcm 1 cm’
ThO: @Prho,
_ 2 9 69 _
¢, = 9 eo+ogg 9 - 0084
1 ThoO.

Vi, = %r[ra = %n(o 5x 10°° cm)® = 0 52x 10°° cnt

1cm ThO:

_ _ 00184
2 05B2x 10"

922 - ,
, , 14.5 ¢ cm’

Nrho = 35 4x 1012

19.3dcm 10 49d cm’
Pe = Quwpw +@ P
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14 5

@ =1-0¢ow =1- =025

19 3
_ 0 25x 10 49 _ 0
Wes = 525x 10 49 + 0 75x 19 3 _ O 193%
E = En@n + B@ (9-7)
E B
= 9-8
EQn + En@p ( )
Ec’ Em y Ep - ’
(pm ;(pp
’ ’ (pp
’ 9_2 ’ (pp y
’ O ,
] y (pp y ’
b EeFeEEREHE
| WA b
Oi
0 0.2 14 0,6 0,8
O = no (9-9) o
o ' 9-2
n_
n=0 DJ/ G b (9-10)
G/ 30, G , ,
. 0) Oy ,
o :%:oiDp/an (9-11)
0, = VGG 6 30D, (9-12)
(9795)
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a,b

Oa

Tm

72 M Pa,

0.5upmpB~—SC
SiC

— 314 —

_ |_B&Gbw* _
= (9-13)
30 20 (1 - ¢»)
db , (O] , ,
GCU
O = 0 83 pa@, + Komu (1 - o) (9~ 14)
07 10,K=a+bd?,
; P;
1(pp ’ ( K)
) a p
] ch
Ow = (0a +0 83tm)Ppr +0a 1 - @p) (9~15)
( Tmu);
Oa :
8.8 MPa,
100y m : 0.1 100pgm
2 6 9-3 :
: SiC Siz N : Sis N4
0 O7pm, SiC 014 O 21pum,SisN. 1 3um
19%, 9-3 ,
853 M Pa 20% 1 055 MPa,



24% : , SC 3 7um,SisNs 7pym
700 MPa
9-3
9-3 SIC(0 O7pum) SizN: (O 5um)
SiC K ¢
1 M Pa MPa m'? GPa
0 853 7.4 16. 7
0.05 887 8.0 17.3
0.10 940 8.5 18.0
0.20 1055 7.6 21.0
9223
(1)
Pc = R(pf + Pm(pm (9_16)
P— ,
Pc ’
P —— :
¢t — ;
@m Qr +Om = 1
923 , E 0.3 E
72.4 GPa 2 .76 GPa,
e, = Oc —g, = Om_ —g = Or
c = E = &m = E. =& = E
o B _ 72 4 GPa _
on "B Y T 276GPa 20
¢ = O = 1 = 1 =0 96
Ot + Om 1+cr_m 1 + 1
Ot 26 25
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E = k( Ef(pf + Em(pm) (9_17)

, K k 09 10 .k 1,
E = kEf(pf (9_18)
1 _ 0 QO -
E-E'TE (9-19)
y Efl EZ ’
E = BEupn + B2 + En@n (9~ 20)
@1, Pr2 ,Pm O QP2 + QO = 1
(9-17) (9~ 20) :
Ouw = 0@ +0mn@Pn = Ou@ +0n (1 - Q1) (9-21)
Ofu ,
Om ;
Ocu
, Gfu/ E y - ’
ol E Om , Omy Onm ,

(9-17) (9-21) , ,
, Bl En 20,
O-fu/ Omu 25, 10%,
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(9-21) ,
9_4 (pfmin e
, @ < @min )
v @t > Pmin )
Ocu 2 Omu , Gfu(pf +O-r:1 (1 - (pf) = Omu & e
( (pf (pfcr,
)
i
Omu - Onm _
(pfcr = Giu - On (9 22) 0 o 1
(pfcr y
(pfcr
9-4
(.pfmin (pf
(9 - 22) ,(pfcr y ,(pfcr f f
(.pfcr y
(2) ,
: 975 :
, E > En, , 9~ 5(b)
dz : 9-6
(mr)or +2nrdz =TF (O + do)
doi &
d—fz = & (9-23)
Oor —— ;
T — - '
h —— 20 = d
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o

9-5
-t
y4 ,Of

— 318 —

L

(b}

(a) ; (b)

) (O'f )max )

Ocu =Gf(pf +Gm(pm

i
T
——
Ty,
A,2
Or =
It
L
O Z= - ,
2
TyL
(Gf)max =
£
(Gf)max = Otu f
_ Tyle, _ Ofu It _O'fud
) LC - -
It Ty 2ty
9-7
Le _ Ot
d 2ty
of ,

Emu

(9-24)

(9 - 25)

(9~ 26)

L/ d

(9-27)

(9-28)



L>L ’ ! Otfu ,
9-7

o = [1 i ZL_L]O' (9-29)
L . _
Ocu = [1 - 2L]0-fu(pf +0m (1 - (pf) (9 30)
Onm ;
LC - 1
L——
(pfcr,
Onu_ - Om
o = - 9-31
(pf Ot - Om ( )
(9-22) ) Or < Ow ,
N |
Z 7
1=
il *J%
9-7
924 @or = 04,d = 25um,on. = 2 500 M Pa,
Onu = 275 M Pa, 200 M Pa ,
1 mm
, On, Omu Onm ;
200 MPa Ty Lc:
_ dow _ 25x 10° mx 2500 MPa _ -6
L. = x, = 5% 200 M Pa = 156 25x 10 m
Lc *
O = [1 - Z Gfu(pf +Gm (1 - (pf) =

[ L. 156 25x 10°m

" ox 1 0x 10.3m]>< 2 500 MPax 0 4 + 275 MPax 0 6 = 1087 MPa

1 087 M Pa
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2LC ]
8§93
(Interphase) (Interlayer)
, nm
89 m’
§931
9311
(1)
Al: Os/ Ni
(2)
1) O Ni
( )
(3)
TiB

— 320 —

nm

100 cm’

L.



(4)

AIZ 03

(5)

9312
(1)

(3)

(IPN)

(4)
(5)

/ /0 3858%cce
%ﬁ_w%@%

BO:,

Al: G Ni o, NiO- Al:Os
H1)
|

0 — S
I
OH -~ OH
R
9—-8
(
9-9
it 5 R BG4 0% ¥ 1 B 5t oo 1=
P . R

=

| _ Q00O
;'f/“|_”“ si — 0@ 000 9000 ee
! Q— WEH @ — iy

9-9

BO:
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Ni

Ge

§932

(1LSS), ,
: , 1 100 50h
60% , w038 Ni
ww 0.3 : : W
, X
X = kit (9-32)
{— . S;
k— mm- s
IDt (D ),k ,
k= Aexp(- @ RT) (9-33)
A— ;
R— ;
T— ;
Q— ( 0.5 )
. X ,
Ofu , K,
K = ot ([ X)° (9~ 34)
: Kic
. Ke = (GE)?,E ,
G E
= ol ) (9~ 35)
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'
Ofuo y ’

, Xe X ,
X 0.5 1uym
4
9-10 ,
' 9-10 /
( SIg Si:Na ), , ,
(ESF) (PSF) , ,
1 SlC H
, Nb, Ns C,
, C
., Zr,Nb,Mo,Cr, Ti V , ,
Al: G Ti TiC, 800 ,
760 MPa,
(CVvD) T B ,
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931
040

Pe = pPe@s +paPa = 2 36x 0 40+ 2 70x 060 =2 56 d cnt’

E = Bsw + Enwa = 379%x 04+ 69x 06 = 193 GPa
1 _ ¢ @a _ 04 06 _
Ex B T E, 379 g9 - 0007
E: = 102 6 GPa

Ow = Oiu@ +On@n = @ +Omu@Pm = 2 759% 0 4+ 345x%x 0 6 = 1301 MPa

Oc = 0@ +0mPm = 8 3x 04+ 23 4% 06 = 17 36x% 10°/

9-4
g cm’ GPa M Pa 10°°%/
2 36 379 2 759 8 30
2 70 69 345 23 4
932 Al; Os B-SiC ,
B - SIC O5um, 70pum,
385dcm, 70 000 MPa, 6 000 GPa; Al. Os 4 mm,
10 p m, 305dcm, 2 275 MPa, 224 GPa 2024- 0O
76 M Pa, 186 MPa
, L> L
B -SiC Al: G,
_ lefu
L. = X,
B~ SiC,
_ 05x 10°x 70000 _ 6
L = > x 33 = 460 5x 10° m = 460 5pm > L
Al: Os ,
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10x 10°x 2 275 _

_ VA 1Y A £ £1[J -6 —
L. = % 38 =299 3x 10°m =299 3pym < L
Om , , ,
(pf — O-mu 'Gm
7 o -0m
B - SiC, Le L,
_1,L g L _ 76x 70x 10° _
O = 4 T 2a " 2x 05x 10° - 030 MPa
- 186 -76 _
(pfchC - 5 320 _ 76 O 021
Al Os | L L,
o = (1- 2"—;_)ch = (1-299 3x 10°/2x 4000x 10°)x 2275 = 2 190 MPa
_ 186 - 76 _
(pfcrAI203 — 2 190 _ 76 - 0 052
(pf O 1 y y ’
Oiu =0i@Qr +C Pnm
ol , :
Owsc = 5320x 0 1 + 186x 0 9 = 700 MPa
Olmi,o, = 2190x 0.1+ 186%x 0 9 = 386 MPa
, , B—SiC
0 021 ,
1. 95% L/ L
2 Gf = (1 - 2_L‘:L)O-fu Lc f
L , L > Lc;Ow
3. , 0 30
Al 38x 10" 4 m, 10" ¢ m
4, Wve = 0 .75,WTic =0 .15,WTac =0 .05,V\bo =
0 05 WC,TiC,TaC Co 15 77 ¢ cm’,
49 dem ,145¢gcm’,89d cm’
5. Ni 001 Th , ,
. Th Th- Ni ThO: ThO:
9 86 g cm’, Nj 89dcm
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a M bk

— 326 —

/
31 GPa, Kevlar

144dcm,

03,

w = 0 25,

124 GPa,

125



g m £ g =9 806 65 n/ & ( )
L, NA mol - * L=(6.022 136 7+ 0 .000 003 6)x 10 mol *
, 273 15K  101.325kPa
Vm m°/ mol s
Vo = (0 022 414 10+ 0 000 000 19) m* mol
R | J (mol- K)| R=(8 314510+ 0 000 070) J (mol- K)
k J K k= (1 380 658+ 0 000 012)x 10" J K
y m = (1 660 540 2+ 0 000 001 0)x 10 ¥ kg=1u
m g
u( )
h J s h= (6 626 075 5+ 0 000004 0)x 10" * J- s
€0 H m =8 .854 188x 1002 H'm
Ho=4tx 1077 H m ( ) =1 .256 637x 10°°
Mo H m
H m
e
e C 1
e= (1 602 177 33+ 0 000000 49)x 10 *° C
F Qd mol F= (9 648530 9+ 0 000 002 9)x 10* ¢ mol
c=299 792 458 m/ s
C, G m s c , G
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( )
Mg nm | nm
Ar (=gcm)| (20 )
1s
Very

H 1 1.007 8 1 - 259 14 — — 0 .046 1+ small
He 2 4 003 2 -272 2 — — 0 .176 Inert —

2s 2p
Li 3 6 94 |He+ 1 180 7 0 534 bcc 01519 1+ 0 068
Be 4 9 01 |He+ 2 1290 185 bcp 0 .114 2+ 0 035
B 5 10 81 |He+ 2 1 2 300 2 3 — 0 .046 3+ 0 025
C 6 12 011 |[He+ 2 2 >3 500 2 25 hex 0 .077 — —
N 7 14 007 |He+ 2 3 - 210 — — 0 071 3 - —
@) 8 15 999 |He+ 2 4 -218 4 — — 0 .060 2 - 0 140
F 9 19 00 |He+ 2 5 - 220 — — 0 06 1- 0 133
Ne | 10 20 18 [He+ 2 6 -248 7 — fcc 0 .160 Inert —

3s 3p
Na | 11 22 99 [Ne+ 1 97 8 0 97 bcc 01857 1+ 0 097
Mg | 12 24 81 |Ne+ 2 650 1.74 hcp 0 .161 2+ 0 066
Al 13 26 98 [Ne+ 2 1 660 4 2 699 fcc 0 143 15 3+ 0 051
Si 14 28 09 [Ne+ 2 2 1 410 2 33 0 117 6 4+ 0 042
P 15 30 97 |Ne+ 2 3 44 18 — 011 5+ 0 035
S 16 32 06 ([Ne+ 2 4 112 8 2 07 — 0 .106 2 - 0184
Cl 17 35 45 [Ne+ 2 5 - 101 — — 0 .101 1- 0 181
Ar | 18 | 39 95 |[Ne+ 2 6 -189 2 — fcc 0 .192 Inert —

3d 4s 4p
K 19 391 |Ar+ 1 63 0 86 bcc 0 .231 1+ 0 133
Ca| 20 40 08 [Ar + 2 839 155 fcc 0197 6 2+ 0 099
Ti 22 47 0 [Ar+ 2 2 1 668 4 51 hcp 0 .146 4+ 0 068

ASM
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)
Ar (i/lgcr?ns) (20 ) [ "M ( nm
Cr 24 52 00[Ar+ 5 1 1875 7 19 bcc 0 124 9 3+ 0 063
Mn| 25 54 94 (Ar+ 5 2 1244 7 A7 — 0 112 2+ 0 080
Fe 26 55 85|Ar+ 6 2 1538 7 87 bcc 01241 2+ 0 074
fcc 0 126 9 3+ 0 064
Co 27 58 93 [(Ar+ 7 2 1495 8 83 hcp 0 125 2+ 0 072
Ni 28 58 71(Ar+ 8 2 1 453 8 90 fcc 0 124 6 2+ 0 069
Cu| 29 63 54 |Ar+ 10 1 1084 8 93 fcc 0 127 8 1+ 0 096
Zn 30 65 38|Ar+ 10 2 420 7 13 hcp 0 139 2+ 0 074
Ge 32 72 59 |Ar+ 10 2 2 937 5 32 * 0 122 4 4+ —
As 33 74 92 |Ar+ 10 2 3 816 5178 — 0 125 3+ —
Kr 36 83 80|Ar+ 10 2 © - 157 — fcc 0 201 Inert —
4d 5s 5p
Ag 47 107 87 |Kr+ 10 1 961 9 105 fcc 0 144 4 1+ 0 126
Sn 50 118 69 |Kr+ 10 2 2 232 717 bct 0 1509 4+ 0 071
Sb ol 121 75|Kr+ 10 2 3| 630 7 6.7 — 0 145 2 5+ —_
I 53 126 9 [Kr+ 10 2 5 114 4 93 ortho 0 135 1- 0 220
Xe 54 131 3 |[Kr+ 10 2 © 112 2.7 fcc 0 221 Inert —
4f 5d 6s
Cs 55 132 9 |Xe+ 1 28 6 19 bcc 0 265 1+ 0 167
W 74 183 9 [Xe+ 14 4 2| 3410 19 25 bcc 0 136 7 4+ 0 070
Au 79 197 0 |Xe+ 14 10 1| 1064 4 193 fcc 01441 1+ 0 137
Hg| 80 | 200 6 |Xe+ 14 10 2 |- 38 .86 — — 0 155 2+ 0 110
Pb 82 207 2 |Hg+ 6p° 327 4 11 38 fcc 01750 2+ 0 120
U 92 238 0 |Rn+ 5f 6d 75| 1133 19 05 — 0 138 4+ 0 097
: hcp
CN=6 ,0 97Rw=8= Ren=6= 1 .1Ren=4 ,Ahrens
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A [of p
Mg/ n? W (mnm?- K) K Q- m M Pa
(99 9+) 27 0.22 22.5x 10°° 29x 10°° 70 000
2.7(+) 0 16 22x 10°° 45x 10°° 70 000
(70Cu-30Zn) 85 012 20x 10°° 62x 10 ° 110 000
(95Cu - 5Sn) 8.8 0 08 18x 10°° 100x 10°° 110 000
() 7 15 — 10x 10°° — 140 000(+ )
() 7.7 — 9x 10°° 660x 10°° 205 000
(99 9+) 8.9 0 40 17x 10°° 17%x 10°° 110 000
(99 9+) 7 88 0 072 11 7x 10°° 98x 10" ° 205 000
(99+) 11 .34 0 033 29x 10°° 206% 10°° 14 000
(99+) 1.74 0 16 25x 10°° 45x 10°° 45 000
_ 88 0 025 15x 10°° 482x 10°° 180 000
(70Ni — 30Cu)
( ) 10 4 0 41 18x 10°° 18x 10°° 75 000
(1020) 7 86 0 050 11 .7x 10°° 169x 10°° 205 000
(1040) 7 85 0 048 11 3% 10°° 171x 10°° 205 000
(1080) 7 84 0 046 10 8x 10°° 180x% 10" ° 205 000
(18Cr - 8Ni ) 7 93 0 015 9x 10°° 700x 10°° 205 000
38 0 029 9x 10°° > 10% 350 000
2 3(%) 0 0006 9x 10°° — —
2.1 0 0008 4 5x 10°° 1 4x 10°° —
15 — 5x 10°° — —
25 — 4x 10°° — —
1.75 0 0008 — 12x 10°° —
2 A(%) 0 0010 13x 10°° — 14 000
25 0 000 75 9x 10°° 10 70 000
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A of p
Mg m’ W (mn?- K) K Q- m M Pa
2 4 00010 | 2.7x 10°° > 10" 70 000
22 00012 | 0.5x 10°° 108 70 000
Vycor 22 00012 | 0.6x 10°° — —
0 05 0 000 25 — — —
( 19 — 5x 10°° 10°° 7 000
36 — 9x 10°° | 10°(1100 ) 205 000
( 2 65 0 012 — 10* 310 000
3 17 0 012 4 5x 10°° | 0 025(1100 ) —
45 0 030 7x 10°° 50x 10°° 350 000
15 0 00030 27x 10°° 10" 9 000
13 0 00016| 72x 10°° 10" 3 500
15 0 00030 27x 10°° 10*° 10 300
( 15 0 00012 — — 4 75
( 12 0 00012| 81x 10°° 10'2 3 500
0 92 0 00034| 180x 10°° 10® 10 100 350
0 96 0 00052 120x 10°° 10% 10 350 1250
1 05 0 00008| 63x 10°° 10" 2 800
17 0 00012 190x 10°° 10" 350
22 0 00020| 100x 10°° 10" 350 700
12 0 00020| 90x 10°° 104 3 500
115 0 00025| 100x 10°° 10" 2 800
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(S1)

kg

"

mol
cd

Si

Sl

S

Sl S

1

wONM<oszePzIaag

T 4 =
O

lrad=1mm=1
lsr=1m/m=1
1 Hz=1s"
1N=1kg m¢&
1 Pa=1N n?
1J=1N- m
1W=1Js
1C=1A-s
1V=1W A
1F=1QV
10=1V A
1sS=1Q"*
1Wb=1V- s
1 T=1WH n'
1H=1Wb A

1 =1K
1Iim=1cd sr
1Ix=11Im nv

1)

( GB31024 4-1la

4-2 a)
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S
min 1 min=60 s
[ ] h 1 h=60 min= 3 600s
( d 1d=24h=86400 s
° 1° = (1/ 180)rad

' 1' = (1 60)° = (i/ 10 800) rad

" 1" = (1/ 60)' = (r/ 648 000) rad

I, L 11=1dm’=10"°m’

t 1t=10 kg

u 1 u= 1 660 540x 10 *" kg
7 min 117 mn=(1260)s*

1 nmile=1852m

n mile
( )
" 1 kn=1nmild h= (1852 3600)m s
n
( )
eV 1eV= 1 602177x 10 *J
dB
[ tex 1tex=10"° kg m
hm? 1 hm? = 10* m?

I s

Cys

ha

). (). (")
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